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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / mﬁﬁiﬁ forr o} faivar Fafafea # 9 3@ %ﬁ?ﬁﬂ' Ry Joft %
1. Distractibility / f&¥¢ faaferdt

2. Hyperactivity / sfferaferaar

3. Hallucinations / Afayd

4. Impulsivity/%WF\‘ﬁﬁEﬁ

Correct Answer :-

« Hallucinations / AfIYH

2) Teachers must constantly deal with changing standards and in teaching profession. /ﬁT&ﬁﬁaﬁ , ﬁT&fUT qqarg
T TR gEad ] 3R P 1Y S BT AR

1. Syllabus / TT&d-faavor
2. Curriculum /q@ﬂ?ﬁ
3. Assessment / 3{THaT

4. Exam system / TRe yomet

Correct Answer :-

3) Piaget believed that language develops in a child as a result of: / foars &1 |9 U fh s o Waﬂﬁﬂ, ﬁﬁ%qﬁ'ﬂwm%
1. Cognitive development / T fadhrg

2. Egocentric development / SHBI%d fapr

3. Behavioural development /Wﬁw

4. Environmental development /UthUﬂHﬁW

Correct Answer :-

« Cognitive development /Wﬁm

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well in her academics. Which of the teaching method will
give more productive results for Mary? / 43} Sgd fATTHI 8 | 98 U SRATURUN WRGATETH Tl & Afer ag fRiem & el 3i g1 urdt
21 0 & forg o < Rreror faftr arftres amye gifte

1. Excursions /HHUT T 3G

2. Brainstorming methods /ﬁ?ﬂﬂa‘\’fﬁm

3. Grade acceleration /ﬁsq@

4, Individualized instructions / Wﬁ&m

Correct Answer :-

« Excursions /ummmﬂa'

5) The occurrence of is an indication of stagnation in the learning process. / 4| UcHl, SferTH Ft ufthar & R 31 Ud
Hha g

1. Motivation / SIFHTRTT
2. Plateau / feRi® (@TLPD

Page- 1



3. Progression / Ui

4. Curve / % (Fd)

Correct Answer :-

« Plateau / RRi® @?ﬁ)

6) What is the main objective of teaching in inclusive classrooms? / THTa=A $&I’l’3ﬁﬁ"ﬂ€lﬁ CaR:LC 3%@@1%0
1. Preparing students for job/ BE B i & ferw IR AT

2. Preparing students to pass the examination / B P URIEN U R b {eT TR AT

3. Developing thinking power of students /B & fefae ifda &1 Ay e

4. Providing notes to students / BTAT Gﬁ:hf\ﬂ Ul oAl

Correct Answer :-

« Developing thinking power of students / BT 1 i e &1 fapr we

7) Development does not include changes that happen due to: / faera # 3 ufvad afftrfera 8 g ot o & sRurga %
1. Tness / §TARY

2. Learning / 3{TeRTH

3. Maturation / GRG&l

4. Aging/ geldl

Correct Answer :-

o Tllness /SHATRT

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is / IO STH T aﬁvﬁég" (&Tﬁq‘ﬁﬂaﬁ:ﬁu s
$T9¢) S TRFT F AHEIRG WU § TE ¥eH § -

1. Primary caregiver /IR TgrE®
2. Family / gRar

3. Parents / Hral-fOar

4. Teachers and peers / fQT&'Fﬁ 3R aeft

Correct Answer :-

« Parents / HraT-forar

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not receive his pocket money for a week. What type of

parenting is this? / ST U Sl PG diSdl 8, dl S0P ATAT-aT THS & o T8 Terd AT 3R 34 T & % ue g & e 34 Sawd
2 forerTT | og fore U R T UTer-uior 82

1. Behaviourist / W
2. Authoritarian / ITATG]
3. Authoritative / 3TIBING

4, Permissive / SJHIGH
Correct Answer :-

« Authoritative / 3TIBING

10) Children with Autism are: / Tae 4T (3w A AT TR E:
1. Unable to make eye contact with others. / §¥R F Y 3T Y Iudb H H g

2. Unable to move about comfortably. / 3TRTH g q:ﬂlefﬁf Kinarapi]
3. Unable to fall asleep. JEiCcERs| srme
4. Unable to follow instructions. / &= o7 uree B o e

Correct Answer :-

Page- 2



« Unable to make eye contact with others. / QHQ- P 1Y 3G Y IS H F rqaef

11) During stage of cognitive development, children acquire knowledge through manipulating objects. / JTTHS foea s AT FH

TR, T TEgaff A R HIF J W FRA B |

1. formal operational stage/ ST WiraTeTed sraw
2. sensorimotor stage / JeRITeR SfawT

3. concrete operational stage / Tl WihATeTD AR
4. preoperational stage / Gd Sfharcdd® /@RI
Correct Answer :-

+ sensorimotor stage / YRR Sfa=uT

12) One way of minimizing the effects of diversity is to allow the children to: / fafduar & yuE B A FA BT TP e a=l o a3t Glﬂ'qﬁf il

1. Win over each other/ U@-gaX TR Siid gIId B Bt

2. Operate in separate groups/ HTHT-3{E GG & HTH HA B

3. Start small communities of their own/3(0 W4 & BIc Vﬂ?{fﬁf G2l T HADT
4, Socialize with each other/ Q@'W P 1Y Heroid g B

Correct Answer :-

« Socialize with each other/ W—'{{Fﬁ' & 1Y Neoldl SgH B

13) According to Ivan Pavlev’s idea of Classical Conditioning, a particular natural response to a stimulus becomes a conditioned response to another
associated stimulus, Which one of the following examples satisfies that theory?/ §aT UTd@Id & TG B3 I=I-1T & AR F AR, TP

fore wo fasiy wipfae wiefbar gu Heeg SavT & forg we werd wfafsar o= wirdt 8 | Paferia & § o1 a1 Sarer 3 Risia o Wge srares?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ AT & Gl G- P Te SHJBIR BI Hobd JHA TR @ﬁ
F WY B

2. Children maintaining silence when the teacher raises her hand/ ST§ e gy IBTaT S A T gﬂiﬁ T B
3. Children expecting to receive medals by the end of a race/ a@ & 3id TP U WKl B D1 IHIG @ a1 9 |
4. Children getting star stickers for the right answers asked in class./ P&l ﬁq\%? QI IR & Y TR D uied = Il 7|

Correct Answer :-

+ Children responding to the bell at school to indicate recess and associating it to happiness./ faera & O 99 BT T ST BT Johd T TR EQﬂ
& Y SIS

14) According to Cognitivism, learning is defined as a change in the learners’ ./ ATADAIG & JHR, TR &1 Rrendf & |
Feard ¥ ¥ § gRyIE frar e 81

1. Behaviour / SdgRR

2. Schemata/ TcTed (T 1HTET)
3. Mindset / ORIl

4. Morals / Afd®

Correct Answer :-

« Schemata/ Hdod (&Iﬁm

15) According to Bingham, what does an aptitude test disclose? Aciercy SR, ﬂﬁ@ﬁl TR1&{0T § T UaT =l %’.’
1. The tendencies and capacities inherent in the individual's original constitution./ TG %H\T’fﬁ*ﬂa # fAfed emame o) Uf!ﬁitﬂ
2. The achievement in different dispositions./ fafyr W@W GREar & Iuatsy

3. The readiness to acquire proficiency and exercise ability./ WA 3R ST 3 D deRall

4. The strength of the different dispositions./ faft= W Ty ot A

Correct Answer :-

» The readiness to acquire proficiency and exercise ability./ WA 3R SR 3 D1 deRall
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16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle is evident here? /qasaﬁ P BT | ST R@mn

T 411 3, a8 Helt oY & S 1 gt B SRy Risia we 27
1. Reinforcement / Tfl'ar'ﬂ_rf

2. Spontaneous recovery / ¥dd: gtma?f'—r
3. Stimulus generalization / IS AR

4. Stimulus discrimination / S&19e faNSIHROT

Correct Answer :-

 Stimulus generalization / WW

17) Carl Jung’s approach for a personality assessment is:/ SAfdRI ST %ﬁqaﬂﬁmﬁﬁaﬁw%
1. Judging/ﬁuﬁff

2. Perception / Hdad

3. Structured / AR

4. Projective / HEUIT

Correct Answer :-

e Projective / gaTT

18) Which of the following is the term used to denote inborn patterns of behavior that are biologically determined? | HfaE =T d fAuffaaaer &
ST et 3t g 3 g Frfafea & @ frw 2reg o1 S fvar smar g2

1. Arousallaaﬁlq (R3Sl
2. Drives / 371G (ST300)

3. Instincts / W(ﬁm
4. Incentives / TEIHT (37@'%&‘])

Correct Answer :-

« Instincts / Wﬁq\f GRew)

19) Which of the following is not a part of the process of memory? /%@Hﬁ@ﬁmﬂﬁﬁuﬁﬁ%ﬂﬁ%’
1. Storing information / SI[-Ih NEPHGERSI]

2. Encoding information / STF®R] &1 Hba 1R U] AT

3. Acting on information / ¥[@-I U BT Bl
4. Retrieving information / STHHRI U HRAT

Correct Answer :-

» Acting on information / @I T B Bl

20) What substage of cognitive development is apparent when a baby learns to press the ‘play’ button on the iPad in order to play his favourite nursery

rhyme? / AT [GPTH D1 DI A IU-SERIT TP Blell 8, 59 TP T=T ST THIIGT THI Biadr ¢8 & g 3-8 IR & g2
o drEar e

1. Coordination of secondary schemes / A1eATE Qs8] & 9H-ag
2. Primary circular reactions / It CHIEYR PIGIERIY

3. Secondary circular reactions / meat® CHICIRS ufafsang

4, Tertiary circular reactions / a?ﬁw qUPR gffrang

Correct Answer :-

« Coordination of secondary schemes / HTEIH® AISII37 BT G-

21) What age is a child the most impressionable? / {< 3T BT T T SUIGT THTTTeN BaT 22

1. 14 to 18 years / 149189
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2. 2to 8 years /2%83&
3.9to 12 years /9 ¥ 12 T

4.6 to l4years/6@l4a"5f

Correct Answer :-

« Gtoldyears/ 6% 14TY

22) CCEis undertaken . /’\‘ﬁ?ﬂé_ IR fpar WIHT%I
1. Four times a year / U% a4 § AR R

2. Throughout the year /?1"3c IRY

3. Periodically / JHI-FHI UR

4. Twice a year /TH aY H QI R

Correct Answer :-

+ Throughout the year / qf iR A

23) Questioning in the classroom : /E&-rrﬁ' UY HIAT:
1. Develops inactivity / o fas g axar %l
2. Clarifies subject matter / s a¥yd @l Y hdl % |

3. Creates indiscipline/maa D¢ %l
4. Is a waste of time /mﬁmél

Correct Answer :-

« Clarifies subject matter / ﬁmaﬁ LA Y Hdl % |

24) Needs which grow stronger when unsatisfied are called: / W @ﬁ WX Aolgd E’Iﬁ arat WI'E = Wﬁ'ﬁ'ﬁ %
1. Deficiency needs / BH! SERd

2. Primary needs / W@ SRe<d

3. Growth needs / q@ TEA

4, Being needs / IS TEA

Correct Answer :-

« Deficiency needs / ELISESG

25) Who proposed the theory of observational learning? / Feroii orftrmy o1 Rigia Wuﬁaﬁw‘m?
1. Ivan Pavlov / SdI LG ]

2.BF. Skinner/gﬁ.w. PR

3. Aaron Beck / 3{'@7{%

4. Albert Bandura / Eﬁ'ﬂ

Correct Answer :-

o Albert Bandura/ EEQT

26) A scoring guide use to evaluate the quality of students is called: /Wﬁwiﬂmw ¥ e swaua ot 9=
Tt TP IR MES e wEandt @

1. Checklist / A eRe
2. Rubrics / &9
3. Rating scales /T Whed

4. Inventories / Eﬁﬁﬁﬁ
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Correct Answer :-

. Inventories/ sﬂéﬁg{

gl

1. Double approach — avoidance conflict / fg ?WUT -TURER Teef
2. Avoidance - avoidance conflict / tIﬁE'R - U'R’E'R o

3. Approach — approach conflict / ¥ - ?WUTW

4. Approach — avoidance conflict / @I - gER Teef

Correct Answer :-

« Approach — avoidance conflict / E@ﬁ'ﬂ qﬁ?l? o

28) Authentic Assessment is a form of assessment in which: / UTHTUI® 3fide 3w &I T =0 ¢ o -

1. Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. /mihﬁamﬁaigﬁm

P BT DI PR & oTT HgT o1l &, ST ATTRAH T SR B & Wil Sy &l vefid da §
2. Students results are compared to hypothetical average student/mﬁwaﬁww WW@?’?W%

3. Student performance is measured against a fixed set of predetermined criteria or learning standards / BT & e &l %f fReffea omeet o dkam &
AT & T [T e b [ia w7 S g

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to instruction /ﬁT&W D a"ﬁwf@wsﬂ%@t

HHSITRAY, T 1R & &1 Hier & vga FofRa e g

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. / mﬁammgﬁm

F B B A & R BRI R, Gﬁ&mﬁﬁﬁﬁﬁm%mﬂ?ﬁﬁmﬁmmﬁ%

29) CANCELLED

Classical gestalt theory was put forth by: / FATRIh S TeTee Rgid -9 gRT wdd o wrar u:
1. Thorndike / YTHSTE®H

2. Kohler / W

3. Piaget / Epis]

4. Pavlov / UI@AG

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance / ﬁﬂ!ﬁl@a -k} ﬁ?{-m DRD ﬁ%ﬂﬁ“q & !:IEQfT-I -]
T B BT SR SRTBEdl BT TUTIT BT 82

1. Parental education background / TTCTI-TUdT & fRr&m &1 qg’{ﬁ-‘[

2. Physical strength of child / g B IMING 'FIG@\?ﬁ

3. Teachers contribution in learning process / SR Ufshar & Ried! &1 are=
4. Social Influence on child's learning / TP SATH TR IEISTS THIT

Correct Answer :-

« Teachers contribution in learning process / 3T UfehaT H 16T &1 IRTGH

Topic:- General Hindi (L1GH)

1) AYR-AYR WY Eruw s
g wfafe wlemor ufaue
orrag &1 9y sireiifed
ey e fage yu s

Page- 6



Tgd WIH-91 gA X, Hg-a!

3 wopTR1 BT Ry sruffima,

AX Sfta BT Sy Tl

eI gae X AU ol

an Xitda sEa o

T I G AT S
fay-zay RR ¢ Fgar &

BT, 1 el ur g firen
Rrex-Rrex A iuw wan

TS Y § 3G SRIWIF
W& e fvea diuw

Y AR $T I WAT;
fagga @ firan @ areen
faga.-fige W dus o

ST U= BT UGHR 12 GBS T A U= T SER qa1gul
U ‘qoh-ae’ | $I-97 PR 82
1. yifom

2. JSfad TR

3. Jalal

4. Sff=rEfRT

Correct Answer :-

o GSIG ThTI

2) AYR-AYR W e s
g wfafe wfoamor ufoue
o™ &1 9y SHTefiferd F!
Ty e faga yg &=

g W1 YA X, Y-

¢ w1 BT Ry sraf¥fira,
A Sfta= o1 3] T
JaP-ga® WX U st
an <ida wEa o

T T G SaTel I
fay =y RR 4= Sear &
BT, 7 o7 T g3 e
frge-Rigs A e 5
STerd A4 H 3G RiSTS
-8 e fraa diuw
SIEHY AR HT IR e
fagga @ R & arean
fogafga i dus e
ST UL DI UgH 10 IB A AT = T I&R qa18Cl
T Sy {5 w82
1. I a1 g

2. Rfsarat

3. HYHR! T

4. 4R P

Correct Answer :-

. Bidm AT udTm Sl
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3) TR-AYR W Huw s
g wfafe wfoeror wfooe
Torray &1 9y sreifed
ey e fage yu s

e W91 YA ¥, Yg-a

2 v a1 Ry sruf¥fir,
¥ Sfta= &7 ) Ta-TTE
Ja%-gad WY iU o

aR Xfrda sHa aq

AT T8 T STl B
fay-=ray RR g pear &
T, T ST I g3 frem
fRrge-fRg= A fues wren
STad T4 H 3@ sRieTS
w8 fra fra fus
SIHY AWK BT I STl
forega @ o € arean

g fde i dus o
IUGT TR B UGHR 12 U W a1 W= T SR qa1gel
W <3 @1 T Haee 32
1. AR |

2. YHIURNISd

3. SIS

4. 3rIfAG A1 $UR

Correct Answer :-

. ST a1 sUR

4) AR-AR W U oo
g wfafe wfaeror ufaus
foraay &1 vy seiifed F
Ry e fage yu s

Tgd AT YA ¥, Y-

3 wobT=T T Ry srafvfia,
o ST BT ST
Ja®-gad WY Slue oa!

an Xfad e T

T ¥ G ST FHT;
=y RR ¢ Fgar &
BT, =1 ST Uran g firen
Rrge-Rrgs WY fuss v

S A H 3 IRIEE
W58 Fra A duw
SIAHY AR T IR ST
fagga & R & grea
fodu-faga AX duw wan
IUY T B UGHR -1 I WM 9T Y= BT I qa13l
W= R Y= YRTaY T T SR 72
L 3 I HIE
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2. RR miferr
3. AR A q@ &
4. Igd UYIATT HAT

Correct Answer :-

- A YT BT

5) AYR-UYR WY v e

g wfafe wfaamr wfooa

o &1 9y Sieiifod P

IRy e Riga g

Tgd WH-91 g9 ¥, Yg-a!

T v o1 Ry e,

A <fta= @ 3y TETe

JaP-gad WX S o

AR i sHa T

T € G STl S

fay-=rad RR yF Sear &

B, 9 o T g firen

frge-Rig A% o wran

S 7Y H 3 RISE

W& e fraq diuw

SIAHY AWK BT I e

fagga @ R & aree

faga-faga A Suw s

ST TR DI UgH 1T IS WH AT = BT I&R qa1sul
T g A A ga ¥ gg a7 J a1 ared 82
L g AP

2. SR W et St 8 39 €t siuet 99 P freer Aty
3. Hgo HIH Yol STl &

4. T B ggdr oS AA Y

Correct Answer :-

6) AYR-UYR WY v o
gr-g gfafe wferaror wfous
oraes &1 uy sefea wv!
ey S fage yg &=
TG HIF-N1 ge ¥, Jg-a!
3 v 31 Ry smf¥fie,
A% Sfam &1 ey T
Yae-qad AR G S
an Xfta saa oA

T T ™ ST T
fay-=ray RR T pear &
BT, 7 oI T g3 foren
fRrge-Rigx A% o wran
S 7 H 3 SRIS®
W58 e A diuw
ST AR BT IR STowT;
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frega < e & argan

fog-facw A uss o

IR LI FT UgHR - U WA a1 = T Sk qa1gy|
WR: SATa1-Sup b R 2

1. Pad 3N B AUC

2. A T 6T AT 3

3. FHIDE T

4. 3 ) AUC TR ST BT TYTH 3 G

Correct Answer :-

« 3T I AUC 3R T BT TYAT 34 &1

7) AYR-AYR WY v e

g wfafe wlaamr wfaue
oraawm a1 gy smefea w

ey S fage yg &=

Tgd T9-91 g9 ¥, Y-

2 worw &1 Ry e,

AX Sfam &1 Sy AT
Yeih-gad 1Y diuw Sa

i fa e

I ¥R i SaTen B
fay-=ay RR ¢ Fear &

B, 51 5T U g firen
frge-Rig A% fues wan

STerd TH 7 4 eieTS
We-gH e fraa diuw
AT AWK $T IR e
fagga & frar € Srean
foga-fagw A% duw o

SRR Ui B U e G O a1 W= T Sk qargyl
= Ry Ty U & ATy Gl o ST ATear 82
1. e @A 31 3141 F BRI
2. 3Gl & BRI

3. TR YIS I

4. T e § GH ST el 8

Correct Answer :-

. U <ues § AT ST Al §

8) TYR-AYR W duw o
g wfafe wfdgmor ufaua
ey &1 gy aieiifa
ey o fage yu ==
Tgd A9 g X, Jg-a !

3 w1 31 Ry sraf¥fi,
AR SiaH BT Sy T
Yas-qad Y AU ot

aR xftaa Hiae ga=

T ¥ o STl
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ay-=ay RR Y sear &

T, 1 oI Uran g faen
fRrex-Rige A o wran

SR A H 3 SRS
we-gH Fra e fus

SHY AR ST IR AT
fagga @ frar § argan
foga-fade A% due wren

IUYw Ui B Ugw] 41 IR 9 are WEH BT SR Farstl
T=: Wee A duw A T aread 32
1. TS ol Hefga &1

2. o dus /R AR

3. 405 Bl R AE T §

4. IR 1 WeeH U Bl T §

Correct Answer :-

. AR B AeEA b HEI TR

9) TLR-ALR T e wren

g fife vl wfioa

Torraw &1 9y SHTeiifed

TRy e Riga g

TG HIF-N1 g ¥, Jg-a!

2 weTw BT Ry raf¥fa,

A <fta= B 3 TETe

JaP-gare A e o

AR e HEd a7

T TR TR ST O

fay-<ay RR ¢ Fear &

BT, 7 oI T g3 firen

fRrge-Rig= A% v e

STed 4 A 3 RIS

W58 e fpaa diuw

SIHY AR $T I ST

fagga & firar € SrEa

foda-fage A us s

I TR BT UgH 12 IS WH AT U= T SER qa1gul
TR: T S0 & Y e TP et HRaT 82
1. TSTS IRD

2. §UF B THBR AR B

3. TS P

4. 919 T q TH TS UICT o HATHR &N RS el &

Correct Answer :-

« OIS A A THe RN Tl HeAT &lTH o] BRell &

10) ALR-AYR WY Fue o
g wfafe wfaaror wfoua
oraaw a1 uy srefea w!
Ty Har fage yo e
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Tgd WIH-91 gA X, Hg-a!

3 wopTR1 BT Ry sruffima,

AX Sfta BT Sy Tl

eI gae X AU ol

an Xitda sEa o

AT ¥R g SaTe S

fay-zay RR ¢ Fgar &

BT, 1 el ur g firen

Rrex-Rrex A iuw wan

TS Y § 3G SRIWIF

W& e fvea diuw

Y AR $T I WAT;

fagga @ firan @ areen

faga.-fige W dus o

ST U= BT UGHR 12 GBS T A U= T SER qa1gul
T: Tgd Fiaar § S o Rraaw f5ad wdie §2
LRI PE T

2. €Ue T &1 firran e o1

3. 3 3ES YT SR W 1

4. fA el ufa =1

Correct Answer :-

. ue W o1 Ngaw dfre o

11) WR-AYR W o W
g wfafe wfoamor ufoue
o™ &1 9y SHTefiferd F!
Ty e faga yg &=

g W1 YA X, Y-

¢ w1 BT Ry sraf¥fira,
A Sfta= o1 3] T
JaP-ga® WX U st

an <ida wEa o

AT ¢ G ST UL,
fay =y RR 4= Sear &
BT, 7 o7 T g3 e
Rrgw-Rigw I fus wian
STerd A4 H 3G RiSTS
-8 e fraa diuw
SIEHY AR HT IR e
fagga @ R & arean
fogafga i dus e
ST UL DI UgH 10 IB A AT = T I&R qa18Cl
W FarEt A §ue B e TR & Son B e e?
1. o HYR-HYR

2. Haw fega-fogw

3. AT Yah-gah

4. U It

Correct Answer :-

- Jugad aul
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12) AYR-AYR W o o
g wfafe wfoeror wfooe
Torray &1 9y sreifed
ey e fage yu s

e W91 YA ¥, Yg-a

2 v a1 Ry sruf¥fir,
¥ Sfta= &7 ) Ta-TTE
Ja%-gad WY iU o

aR Xfrda sHa aq

AT T8 T STl B
fay-=ray RR g pear &
T, T ST I g3 frem
fRrge-fRg= A fues wren
STad T4 H 3@ sRieTS
w8 fra fra fus
SIHY AWK BT I STl
forega @ o € arean

g fde i dus o
IUGT TR B UGHR 12 U W a1 W= T SR qa1gel
W BafdE feaet vy aireiifhd w31 Are W 87
1. 30 Foraee &1

2. fpit o Tt

3. el eAaT 31

4. 9E I T &1

Correct Answer :-

« 3o Oga| &1

13) AYR-AYR W U o
g wfafe wfaeror ufaus
foraay &1 vy seiifed F
Ry e fage yu s

Tgd AT YA ¥, Y-

3 wobT=T T Ry srafvfia,
o ST BT ST
Ja®-gad WY Slue oa!

an Xfad e T

T ¥ G ST FHT;
=y RR ¢ Fgar &
BT, =1 ST Uran g firen
Rrge-Rrgs WY fuss v

W AU § 3 s
W58 Fra A duw
SIAHY AR T IR ST
fagga & R & grea
fodu-faga AX duw wan
IUY T B UGHR -1 I WM 9T Y= BT I qa13l
W TR AYR WY e S Bidar o1 died 5 4 fea w ik @2
1. o sdl B AGRIR
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2. $Iq Thd (o4 ST IR
3. THA PR T
4. T3] BT 3MGRT 3R Twpwt T i+ ST T

Correct Answer :-

14) TYR-AYR A e o
g wfafe wfaamr wfooa
o &1 9y Sieiifod P
IRy e Riga g

Tgd WH-91 g9 ¥, Y-

T v o1 Ry e,
A <fta= @ 3y TETe
JaP-gad WX S o

AR i sHa T

T € G STl S
fay-=rad RR yF Sear &
B, 9 o T g firen
frge-Rig A% o wran

S 7Y H 3 RISE
W& e fraq diuw
SIAHY AWK BT I e
fagga @ R & aree
faga-faga A Suw s
ST TR DI UgH 1T IS WH AT = BT I&R qa1sul
T STt Bt Rivar aars 7E &2
1. IEAPATAE

2. e A A B 8
3. FH AP e

4. Srea & faorc gt @

Correct Answer :-

15) AYR-AYR W v o
gr-g gfafe wferaror wfous
oraes &1 uy sefea wv!
ey S fage yg &=

TG HIF-N1 ge ¥, Jg-a!

3 v 31 Ry smf¥fie,
A% Sfam &1 ey T
Yae-qad AR G S
an Xfta saa oA

T T ™ ST T
fay-=ray RR T pear &
BT, 7 oI T g3 foren
fRrge-Rigx A% o wran
S 7Y H 3 RIS
W58 e A diuw
ST AR BT IR STowT;
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frega < e & argan

fog-facw A uss o

IR LI FT UgHR - U WA a1 = T Sk qa1gy|
W= e | 3T 919 o1 S fovan o v @2

1. B Y

2. /R I SRR AT @

3. G HH dG U

4. fForefore o smare 9 &R

Correct Answer :-

. VR SRR A Taar @

16) WRATY ST I S 8, T8 BEHI 1 317G 21 1 Fger 3 RO &/01 39 32 Y oRell R Ueet AR Wi v g, e St wHa @ Seri o1 o e g
TRT g3 BRIT| 74 fAy-AIfee &1 Wediaw I=1 B, e vo1 $91 9 5o 9R af uga 81 gt ft1 $7dg & sFies el I qeprel 1 woTel # ST} a1 frwamis ot
W iraa R Te et & 819 & v e 81 3 39 9 BT U AEHES YTl 3% B A9) 81 Biafes 9 § eMw e a1 feasfrat wét o gat |
mﬁsqﬁu?eﬁ?mmaﬁﬁﬁﬁﬁhaﬂl S5 B TRAYT 3T 37T & T Nyuiiie AR 31 93 §U SeML &1 ofar 9 3@d! 81 39 €Y § $@g (132) 1
g ¥ THu g :

8 3% & TRIEHHI BT G0 AT §, Fore S TIIY 3 Ha¥) Ugal o &1 S99 oify (AT SRIR) 1 AT, 510 &1 URT Y WaTied fova ofiR uda wr =ifet & forg T
Tl | 375 A 39 3R &1 AR R, S uda r Tgar AT @er A 375 S e awr = anl @ A 9 € At o1 war @) $urd g€ wdl P e sa R @ ek wg
T | S 3T T BT YRR B P Frg Traar fban oix a9 @ aifg W weR v 5w = aranfagt <t wman o1 fakiy fean o= 9, 3ur $iv snem=1 &Y sFTqa fbar
AP TYI 5 BT SIS T YT §5 A I & ST B1 T4 PIC ST, O IS 1 SITerdf S wIehl 81 97 tRedl IR BR U971 WU $3% 94 IR $75% 9 a9 91 4TI §°5
AU B, 39 A AF3 BT A 501 81 79 3% & WeRI 1 $4 98 T&dT UI? 98 981 a6 A gRTI TR 1Y 3R Ui P o W W 389 35 & 7eTE oY 35t 55
309 e IR a9 § WeR frar| @R 3@ yar His & goeed § 6% bdl 82 9 & ghe-ghs ol T | 79 Wd BT YaTe Ol Sl e e F R F ew
T5 I5T| G = 5T91 B} YIRT I STaGR 319 T UT| 39 TE} St IR el gl 98 ¥eT 471 §5 = 33 1 WiFei 71 i ) yeR fFran| A s R, g =i wer4ni g7
Pt AT 0 Ut off, S T SR 958 S WY U 81| G BT Hd TR I SIA-URT A ST AT, Sl ShA1 AT Sy, s 7€ deelt | 30 3 & @9 F gl o) vt et
qE T AT UTI g IAPT T&r ATI S TfdT IR 1 A A B, I €Y S0 oI Ft uRT3i 1 e 3@ 9Tl

IUY R TR BT UGB A YD T YR BT I« izl
A 3% & fore frem a9 smman am?

1. REa

2.@91H

3. P AR A

4. qaarei =

Correct Answer :-

17) ATy 1 3 ST E, T8 ST BT SIS A ¢ 1 I 3 R &1 39 3% 9 Rl W Umelt IR i e g, St Se W § Forh o1 ot vEed gun
TET 3 T | F7de Y- BT Ui I 3, iRt 3o $91 & 30 9k o ugat 81 gt <t H7dg & sFies wieil IR qepTel= ware § g ar frwamis ot
de i SR Ue yaferd fawr €9 & g et §1 §75% S 90 91 U9 HeTS U1 §5 B 99} 61 Hiatas qaTe § s e a1 feaafat ¢t o gat
ﬂﬁﬁﬁuﬁ?aﬁzmmﬁﬂaaﬁhvm 3% B TREAT Sv 37y B T iR IR 3 AR §U FEH $1 S 9 3l 81 39 € 4 BRe (1/32) BT
qg S} TS

8 5% & IRTHHI BT aU TYT §, oS S At 3 vad ved R 31 39 oift e SRIR) Pt HRT, 9 9 4R 3 ward v ok add R At ¥ R e
Wl 37 A 39 3ifg S AR FRTa, St udd U= Iga1 471 @1 A 3= & fIu aor a9mn on1 (G 3 S € e &1 ar @i, YT g5 T B /e wa A 1 iR 9y
TR A ST T P IER B F forg Foar foram ofiR aor 9 oife W wer fran 595 = Aranfat &6t v 1 SRty foran) 3w 3, swi ok simerar 31 orTga foram
TS UUT 55 DT BIS I TXGT 75 3 T3 % o7} 1 T e STart, S U5 Y siferat ret wimelt &1 9 eRelt R R U1 wrerar o 3 9 75 & g 7o o1l 5%
Ui, IE S T3 1 EHA O ¥ 1 97 5 F Ve B $) He W Ur? 98 It ¥ A ERTI R ST R Ui Fe 9 W o I 7% @ weTE o v 5%
AP Wis IR 91§ UER fHUT| (FTURN) I Ul WIS & HEHIEd # 36% Ubdl 82 99 & ¢he-chsS &1 T aa v ST ag afl Sl U g d Rt F R

9 3T g 7 O $) YRT B! FaRGw| I IGT Y11 3T 98! ot I& gl g 98 V8T 4TI 55 7 A DI Aokl A1 R+ wer foan A Fw &, @R ugran g2
Ft rar U9 St <ft, S T oo 758 & Ay Ut 8 | 9 BT g IR I STA-URT H TS AT, WY b Tt S, frema T wwelt | 370t 3y % ww F gl o ot et
T BT g3 ATI SH1S ITDBT & UT| OIG TRT I Y e ol &, 38 & S o Y uredl &) A wam aml

I TR BT UGB -1 T T U= BT Ik 13Tl
W=: §% @1 el & g wan firedte

1. R

2. faem

3. e

4, RIhH

Correct Answer :-

18)

Page- 15



YRAGY BT Bt YN §, T8 SO 37 i 31 81 7757 7 FoRT &101 390 3 B 2Rl TR Ugel IR UTa @1 51, Herte St W0 ¥ Het o1 o waa gan agt
T §RIN $14¢ fay-Afe &1 s =4 2, Rreet Yo $31 9 70 ook af ued 81 3ot Bt B1dg § o wiel W aoeTe wwre # S ar frwamis ot
Wi ok Te watea e 819 % vurr firea &1 3% S 99T BT 0P WeHAS U1l 55 1 9w} 81 Bialee g § 8Mw e a1 fhasfwrat wét wm gt off
ﬁﬁgﬁﬁmﬁ?eﬁﬁm&ﬁﬁa@fﬁhzﬁl % DY ARG 3T 3T & T ST IR $) G0 T SEHI $1 efar 9 7@« ¢ 1 59 € @ B1aq (1/32) a1
ugemqaﬂlﬂ $

8§75 & WTp I BT U e §, o S aeremdt A e v foran 1 Iu ot (e SRR 1 AR, e &5t Uy &1 wafed fopan ot udd R AfeEt & ferg wrear
Tl 37 A 39 3ifg &) AR FRTa, St uda uR 3gan o1 @1 A 3= & fu oo a7 on1 (7= A S € et &1 v @) YT g5 T 31 wRe wa A1 3 iR ag
TR I ST T B IR B F g e fran ok aor < oife R e fvan1 g 7 Aranfyat ot wran v iRty Rvan) 3w <, swn sk s Y srTga fman
TP YT 5% BT DI WF T IE Wﬁw%sﬁﬁﬁ@wsﬁnﬁﬁﬁsaﬁsﬁﬁmm%wuﬁﬁwﬁvwl TRIUT HP gA AR 5% O TS T 4TI §%
WUl 3, 39 3P AFaH P HA fPA1 31 4§75 & UK BT B e HHal U2 T8 T 0¥ § §RT T 31 $fR 1fq P o W i 39 7% A 9T oIRI ¥ §°56
A 399 i W a9 § WER fFaT| ([TYRO) 30 4T His & GhTad § e bl 82 99 $ ghe-ghs 8l T | 99 9l BT JaT8 Al Sl I g F Rt @ F aw
g IBT| T 7 Tl B YRT P SIERGHAT I T UT1 3 T8} et I I Gall G 75 8T AT| §¢ 3 J B fRagi= Avan wR Wt ygR fan) wrar o Ff, 32 = ver 4mi g
7T TR Ut <ft, S T O 758 & WY U 811 9 BT g TR I ST URT A TST AT, S $HT1 At S, fram T8 et | 370 I % a9 # gl o o et
TS ST ST UTI 3TE ITPT T8 AT| S T T4 1 3 Ad §, 99 €1 I oI Ft yRTai i e 37 9Tl

IR TR BT UGHR A TR Y U= 6T Ik a1zt

W: B1Y 3R Ufd e o W Wt fHem §5 @ g ik v
140

2.

3, Tied

4.7

Correct Answer :-

19) WRAAY HUT ST S B, TE SN BT S I 31 7T A Fory &1 590 3w &1 Rt W Ugeht IR Wid ¥ ST, ot S wod & et o1 ot e gun
TRT GO BRIT| 70 (Ay-HIfeed T Wiaw T=1 B, et 7o 91 9 o 9k ¥ ugat 81 gt ft1 $79 # oMo Riall TR qepTell woTel § ST a1 frwamig ot
Wi ik U@ yafer fwr 89 & yaro R 81§50 39 999 31 U TS AT §% B A9} 81 Biates e 8§ emw fruw a1 fhagiwat 1w gat i
mﬁﬁu?aﬁ?amaﬁﬁamﬁﬁhzm 5 B TREmYT S 37T F T SNUTRie AR S WA §Y FEl &1 ofar Ui 3adl 81 39 € @ $W@q (1/32) BT
g 3™ TSI g :

8 75 & TRIHH! BT G T §, ors S8 TRUT A Iad Ugd a1 31 99 Sife (A SRIX) $ AT, 56 &1 YR &1 yaifgd a1 i uda W et & fog Iean
Tl | 575 3 S 3R B AR R, S uda o Tgar AT @er A 575 $ forg awr = Al (g A 9 € At o1 wwar @) Yurdt g5 il 9 o) o e @ ek wg
TAT| T U T B IR PR F g Fovar Ream ofiv aor < aify wv wew Rvan g9 aranfaat ot w31 Rty foran ) 5o o, St o ST 1 s fsa
3P UYT T8 BT B T 7 38T 55 A T3 3 3N H1 TN PIc ITam, O U8 31 Siferar $IET Wil &1 9 Rl IR PR U371 70 %% O 4% 578 O 98- Ien 411 §°5%
AU 8, T SMe Tl 1 A feur ¥ 1 99 5% & Mo 1 $ We Wb AT? 98GR a¥E | SRTI W g1 9 Ui Fe o W 3 5% A weTE oIl v 5%
A3 e W a9 A YER f5an| (@IURon 39 YT WIS & gorad § 383 Abdl 82 93 & ghe-cPs ol T | 99 el BT Jd18 dlvil &t T g3 & R g F Sw a
g o1 T 7 A B1 UIRT P STERGR I TET AT| 39 T8 ST S Al goiT 98 T AT| 375 A 97 B AfHIH arar ) o weR fovam) arar S &, g i vgrami g3
1 AT ¥ Ut oft, S T SR 958 S WY UL §) | G BT Hd TR I STo-URT A TST AT, Sl ShT1 T} S, fsme 7€ oeelt | 330 3 & a9 § gl ot ot anft
qAH THBT G UT| Y IADT I&r AT| S GfOT TR i A Ad &, I 8 9 oI BT URTSH i I 37 U7l

IULR TR B UG R T T T $T SR T3¢

W 5 Y 9§ A T I W & uret S oRE 981 I g
1. B RE

2. DI RE

3. 915dl Bl RE

4. 1 g T B e

Correct Answer :-

20) WRAAY HUT B STAYR B, T6 BT BT G 30 71 7T A R aro7 590 370 Y evel) wR el AR uifa v g, warfi S e @ @it o off s g
TFT GO BT | 7 Iy-ATecT BT ri-a 7= 3, Rreat v 91 9 $o 5oIR av ugd 61 9ot At 5738 § oo widll R aenTel 1= wTel & Sgr) ar freamits ot
dw i o e vafia A 9 & v R 81§75 99 990 91 U9 WeTAE ATl T5 31 49 g1 Bidie® WA § ome Iy an feaafat 1 o gat off)
mﬁs#ﬁu?eﬁﬁmaﬁﬁwﬁﬁmﬁl % P AT U 2y § T NIRRT fIIR &1 Gie §T HET &1 2141 WA 3@t 21 39 2 @ B3ag (1/32) 97
Tg A USNAE

v g% & TRTSHHI BT U Bal §, e 99 aoreit 3 Uad Ugd fhar 81 S99 oY (T SRIR) B AR, Se P Uy 6t watid fbar ok uda w el & forg e
Tl 3% 3 39 fE BT AR PR, Sit 0 W 5 o7l @ 3% $ Rrg a9 a9 ATl (@7 A o € et o IRar @ier,) $urdh g5 el 61 ave a3 ek 9
AT | I 3 el B YRR B & g o fran ok o1 & aifg wR v fovan 3 A Aranfagt &) arn o1 favvy fean ) 3a= g, 3w oiR Sirer=1 &1 er1ga foban|
TP YT 5% 1 BIS X5 7 V6T 55 A T P 307} B) TN PIe STam, O I3 31 s1ieri w1} ol 81 9 Rl ) R 0371 7era a3d o 6% 575 A e el 411 5560
TR B, S ST WF T AT AT B 1 9 $5 F WY B S HE Wl A2 98 I RE § SRT| R BT SR Ui e o1 TR ot I 5 § 9T oI vl §
A 3ue fio W a9 § W fbaT| (WTRI) 9 Hell Hie b Goblad § 36X bdl 82 T & ghe-ghe &l T4 | 1« Od BT WaTe Gl &l Wi g9 & RE @ S W a
T ISTI T 7 I B URT B TaRewil b TWT UT1 3T T& Tl I el g1 98 ¥eT AT 5% 7 g1 Bt AfHEH arar R +ff wer fvan) arar e f, AR vgram a3
Ft 7T 07wt <ft, S T oo 758 & Ay vt 81| 97 BT g YR I STA-URT H TS AT, Wi ShT At s, frema 7Y et | 370t 3 % ww F gy < o anft
D THT AT UTI 3R STDT & UT1 S U1 1) 1 e A §, 39 € I w1t 1 wreii &Y 3 3@ Tl

ITIHR T P UGS A1 T T T2 T SR a5
T=A: $% A 30 991 | fo5 T oRR 31 ART?
1. 3fg
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2. AfGERR
3. PR
4. TIUIRR

Correct Answer :-

. ofe

21) YRATY AT B TAYfA B, 7§ FeT B 31 A 31 AT A R 8101 37 T it eRelt TR ugelt AR uia war gh, werf S wwa & et o1 oft tee gur
TgT g BRI Feag fAy-wfea w1 wrelisaw =i B, Rreret Yo 97 9 o 9 o uga 8 gt 1 e § shie wil W aepTedl werer § @ At e ot
Aot ok e waf e 819 & yamor fire §1 375 99 WHY 97 TP eI ATl T 9 Ao §t wifew wure § oe frue a1 faaft v o gt F
mg‘—rﬁua?sﬁwsmaﬁﬁemfﬁhml % BT IR A 2y # U SA-Tiie fRaR &) Tl gU SeTHt &1 2far A It 81 59 € & %1ag (1/32) &7
g S TSI S :

8 57 b URTHY T G0N B §, R S Tt A W) v o 81 39 oty (T SRR AR, St w1 oy Y wariea fa ok uda wr St & R e
Tl | 375 3 99 31fe &1 AR R, S uda R Tgar AT @ur A 75 $ Rorg awr o= Al g A 9 € i &1 @) Yt g€ e $1 ave ot e Bt ek W g
T I T T B TR HRA F g Far fram o a9 9§ 3ifR W ver fan g0 = aranfyt o aran 1 Rty far) S i, SuT oiiv arerr &Y srTge fsam
TP UYI 55 ST SIS g TY6T| §5 A 93 & ST D1 T BIC ST, 9 U 1 SITerdl B ool 81 97 el IR AR U971 7y $b 94 IR 575 9 o) el AT §°56
Faard B, 399 3w 230 BT 3 641 §1 97 5 & We R 51 54 e IehaT 12 98 g8 v A BRI W §1Y 3R ufa we S W Wt 5w 5 @ eTE ol i g
AP fe IR a9 | VER a1 (A1) 39 YT 6iS & GHEa # 38 AHdl 82 99  gHS-¢Pe 8l 3| 79 o BT Ja1g 4l 3l ara g9 & R g & WA
TE 3T T 7 T BT YIRT P STERGRH 1% T@T UT| 3(d T ST I Al g 98 I AT| 375 A T B AFIEH urar wr o W fvan) arar S <f, g7 i v ami g
P AT T Ut A, SR I A IS &A1Y UL 81 T BT G TR I -SRI A UST AT, SiY SH1 g1 S, faamy T st 32t e & 99 # giew d) o endt
T BT G ATI ST BT T& AT | S T el Y R ol &, A9 & S ofer Y uredi &) A Tl

IUY TR B UgHR 1 T T YR BT I« IaizTl
WA $% 3 Y, 3T 3R STy B 7 e

1. SFIgd

2. 3ffqd

3. Wgd

4. MABR

Correct Answer :-

22) HRAAY FAUT BT STAYR B, TE ST P13 I 31 7T 3 Ry 4107 590 321 1 el = wmelt @R Wi v S, e St wea @ et o1 ot vaed g
g1 g3 81T | Biae [IY-HIied BT WRiaH U= , Sraa w01 $91 & $9 9k a4 uga €1 gt Y | Bide § oMo wial WX debrel= JTel § B! a1 fwanis ot
de T Sk ge yafer R 9 % ywmor et €1 §7 SW T @1 UE TS AT §% B 4@y 8} Frataw wArst # shw s a1 st wdt o gat 6
mﬁsﬁﬁua;eﬁvwmaﬁﬁawfﬁhaﬁl % DI ARG 3T 31T & T ST IR $) G0 T SEHI $1 erar A 7@t ¢ 1 39 € & g (1/32) a7
qg S Toig 3

B 5% P WPl BT U e &, o I T < e v fohan 81 Iu S (ATHe SRR Y WY, 9o ST Uy &1 wafed fopan St wda wR AfeEt & ferg et
Tl 37 A 39 3ifg &1 AR FRTan, St uda U= 3gan 411 @p1 A 5 & e a1 amar om1 (7= A S € e &1 e @) YT g5 I 31 @Re W A1 3 iR a9y
AT | T U T 1 IR R I T wear Fam 3fiv oo 9 oife wR wew fman1 o 3 wrantat 3t A o1 Rty forar ) S g, St o e 1 s fama
TS UYT §5 BT BIS W T ST sz%qa%sﬁﬁﬁﬁﬁmm,ﬁﬁﬁsaﬁmmmé‘lqmmﬁwﬁﬂwl TRIUT B g 4R 5% O TS 991 AT §5%
Turft 8, 384 8w W3l 1 A f5a1 11 997 575 & WERI &Y S8 g Udbdl UI? 98 31 avg & gRTI W 81U 3R Uid $e o W 4t 389 3751 A 818 aRI vl 1 55
A3TP! 13 IR a9 A WER 511 (AIURON 39 YT IS & GHrad # 3g3 Abdl 82 93 & Zhe-cPbS 8l | 99 Wdl &1 Ja1g il Sl I g $ R A F Fw A
g 3BT T 7 Tl B YRT P STaREHAT AP T/ YT I T8} 7t I I Gall §HT I ¥8T AT| § 3 J B gt Avan wR Wt ygR fan) wrar S Ff, 32 - ver am g3
P AT T ISt A, O T 3 IO S Y TE €| T BT Gd IRR I SA-URT A TST AT, S SH=1 T6 1 S, e 7€) st | 32t o & 99 # @i o) o ot
D THT G UTI 3R STPT & UTI S TR 1) 1 e o &, 9 €1 I oTet BT U7l Y 3 3 Tl

UL TN B UG 12 T T TR BT IR T3
WR: HRAGY ST P -t yfir g2

1 SHYH

2. SoR Y\

3. HHYfl

4. A YA

Correct Answer :-

o SEYH

23) HRAAY FAT BT YR B, 7§ TN BT 31 A4 31 77 Y Ry &1 59 31 Y el R wmelt AR uia v S, wari S & werht a1 ot veed s
TRT GO BRIT| 70 (A-HIfeed T WR-aw TR B, R 7o 901 9 6 9K ¥ ugat 81 gt it a8 § oMo el TR qepTel 1 WoTel § ST a1 freamig ot
W iigar 3 TP water fawn €19 % war e B 3% S 99T BT 0P HEHIA® ATl 55 B A} 8 Bafee aue § 8Mw fruw a1 fhagfwrar wédt wir gt off)
mﬁﬁu?aﬁ?amaﬁﬁamﬁﬁhzhl % B TREmYT SU 37T # T SNUTRie AR &) Wi §U el ST ofar Ui 3adl 81 39 € @ BW@e (1/32) BT
g 3R TSI g :

¥ 575 & W BT Ul e §, o S Tt A was v foran 31 SN oy (e SR[T) 1 AR, e 25t U 6t wafed T ot wdd wR AfeEt & ferg e

T 3% A 39 3ifg &) AR FRTar, St udd uR 3gan o7 @91 A 3= & e a9 a9 mr on1 @7 3 9 € fel &1 e @) YT g5 T B e wa R ik |y
AT T ST T B IR B F g Torar Ream ofiv aor < aift R wew R 75 A wranfaat oY wren a1 Rty foran ) s o, St ok st 1 s fsam
TP UL T8 BT BIS X T 36T 55 A T 3 3N H1 TN I ST, O U3 31 Siierat S well &1 9 Rl IR PR U371 7a X O 4R 578 O 98 el 411 575
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TR B, I P P T SH fFaT § 1 79 5% & UERI B A T IPHT UI? 98 I a8 U TRTI TR ST 3R U9 Fe I W W S84 575 | F818 oIl & §7%
AT NId T a9 & UgR fHaT| (AR S Hal WIS & PHIad & 382 Ubdl 82 94 & ¢hS-chS &l | dava ST TR aRi I AN geN $ Rt s A
g 3BT T 7 T B URT P STaRGRIT I T UT1 3 T8} 7t I TGl §T 5 ¥§T AT| § = I B fRagi= Avar w Wt ygR fFan) wrar s Ff, 32 - ver 4mi g3
P AT T w6, O I 3R IO S 1Y T €)1 T BT 9 IRR I A-URT A TST AT, S BB 61 o, e T St | 39 o & 99 # giew ) v enft
T SHT ST UTI 3R STDT & UT| S TRT 1) 1 A A €, I € I o1t T U7l Y 3 am Tl

SR TR Y UGy 12 IS T TR T Ik TS|

WRH: BIde Ry-aifed 1 Ha1 vy 9T wrar @2

1. UrEiaH

2. UMl

3. ST

4, AADTAA

Correct Answer :-

24) HRAAY FAT B TR B, 7§ TN BT 31 A4 31 7T Y PRy &1 59 31 Y el w= wmelt AR uia v g, st Su A ¥ wer a1 ot e g
TET 3T T | Fovde (Y- BT Ui IR 3, Rvrast 7o §91 & 370 59K 9 vedt 81 gait 4t 7dg & sMies Wil W qeplel= wAre # ST ar frwamis ot
AT 3T T yaferd fawr 9 & yarr fiad 81 3= S 99T &1 U6 WS UT1 375 &) A% 6} Biaiee JA § oM Ay a1 fhaef=mi wet o gait o
mﬁﬁu?aﬁ?amaﬁﬁamﬁﬁhzm % B TRUT ST 37T & T MU AR $Y AT §U ST ST ofan 9 3@l 81 39 € @ BW@e (1/32) BT
qg S0 c|37'“C| :

¥ 575 & Tl BTl e §, o S Tt A wed v foran 31 S oy (AT SRR 1 AR, 5@ 31 Ut 31 wanfed T ofi udd wR AfeEt & feng e
Tl 3% A 39 3ifg &) AR T, St udd w3 3gan o7 | @91 A 3 & e a9 a7 o1 (7% A S € e &1 wrar @) YT g5 T 3 e o 1 $ iR ag
TR I ST T B IR PR F g ar fram o aor 3 oife wr e fvam1 g5 = Aranft ot wman ot 3Rty fvan) o ¥, swn ok s Y orTga fra
TS UYT $5 PTHIE M TG §5 3 T3 & S 1 T Te ST, I U5 3 S1iemat 1ét oimelt &1 37 et R R UsT1 Hequr 32 37 3 575 @ a5 9o 411 §56
AU g, I e Tl BT A feur 31 99§ & Mol 1 $ WE Wb UT? I8 GH OvE A ERTI W g1 $fR Ui Fe o W o 38 §% A weTE oI 7 §%
A 3P e R a9 | WER fFan| (@R 39 YT TS & gorad § 383 Abdl 82 99 & ghe-cPbs ol T | 99 el BT Jd18 |l &t T g3 & R T F Swd
g ST T 7 T B URT P STERGwT I T AT | 3 T et S IGall Gl I8 6T AT| §5 3 G B fwag = Avan w W wgR fvan) wrar o &, 7 == ver 411 g
AT AR ULt <ft, S T 3R 758 F WY U< €)1 9 BT 7 TR I STA-URT A TST AT, Wi SH1 et i, frsm 78 et | 30 3 & a9 F gl ot ot anft
TS THT T UTI 3TY SAPT I UT1 SR T ) &1 3 A B, I €1 I8 o1t 3t Urail Y 3 am |

UG TR B TGP 1 T T U PT IR aasql
W= T BT 4d IR BE1 ST g 41?2

IRCUC ]

2. SHH R

3. URIS W

4, SAURTH

Correct Answer :-

. STAYRTH

25) HRAAY AT BT SAYR B, 75 D BT SIS O 31 7T 3 Ry 4107 390 =1 97t el wv wpeht AR wia v Ei, wari S e ¥ wert 31 ot waed gan
TgT gl §NIT | g RAY-Afee BT wri=ad U= 3, RRIet To1 $91 4 0 59k a9 Ugd €1 gait 91 57de & eFie Ridl TR depTell- warel # g a1 freanis ot
B iaaT o e i e E9 & yrmr Rew §1 $75 39 990 31 TP WETE AT| §F 3 A9 8 Biafee GA § o fye an fraeftat v o gat of)
wsﬁsﬂﬁu?aﬁ?amaﬁﬁawﬁ‘ﬁazﬁl % B AEAT AT 3y # U SN IR &) THe §T SeTT &1 2iar 9 @t 21 59 2 @ B1g 1/32) o7
qg 3 U g :

wi} §5% P URTeH AT BT qUI el §, R S0 auerl A Tad ugd fhar 81 309 3if (e SR[R) &Y 7RI, Sa B 41R1 B! waries fparn 3k udd R At & fw
Tl 3% A 99 3ife ©) AR AR, St udd U% 381 471 @91 3 & 1T g a7 o411 375 7 5 € A1 &1 v @i, T} g5 Il i ove o e $l iR W
TEAT| T ST T Bl IER DR I F¢ Foar fpam v awr & oifg R wew fran g7~ wranfai ot v o1 fdty fovan | o 9, St ofR sirerr o1 srmTga fmam
S YN 55 ST B I T Y61 §5 A I3 F o1t 31 T Te STarT, S U5 o} S1feral Bt et &1 97 erell R AR 011 weyur o 97 IR 575 & a8 el T 5750
AT §, 39 AP I3 BT A 541 §1 79 3% & WERI 31 $8 e APdr U1? 98 T a6 | TR TR g &R ufd @ o W oY 399 55 & a7 o 7 3
A IGP! fio T aw | TER a1 (HIUR0) 96 Hell Gis & gorae # 38 bl 8?2 T $ g -cPe 8l T | 7d oel BT JaTe 9| 3 Wi g3 & Rie g7 & FW A
g ISTI T 7 e B URT P TaRel b TWT UT1 3T T Tl I el g3 98 IeT UTI 5% 7 g1 Bt AfHKEH arar R ot wgr fvan v e f, p AR vgram a3
P AT T ST Y, S M AU 99 & 1Y UL §1 1 I BT Y TR I/ SA-URT H UST AT, Wil FHAT 51 e, fasmT 98 &<t 30t o/ & o9 § giepw o o anefY
T ST G AT TR ST e o715 GRT Il @) e o B, 3D 6 S o Y ural @Y 3 v i

I IR B UGH -1 T T U= B I« 13T

T: B H 3% WG IR T TaTe A st defiraar & wamor fred §2
1. HIF-U1é

2. it A

3. Rerert

4. freamig

Correct Answer :-
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26) HRAAY FAUT BT STAYR B, 7§ T BT 311 I 31 77 3 Ry &1 590 31 9t el w= et @R wia v €, warie 9w W @ et o1 ot veed s
TET 3T ST | F7de FAy-WTfee BT Ui I B, Rt 7o $91 & 90 79Ik a4 uedt 81 gt At 7d & sMies wieil W qepTeli= W # ST ar frwamig ot
Srw e ok TP wafea fawn 813 & yurr fired 81 57 39 9T BT UF HeFRS Tl 35 &1 da) 81 Brafee ue § smiw fruw a1 fhaef~at wét s gat off
ﬁﬁﬁﬁuﬂ?aﬁ?ﬁﬂaﬁﬁﬁfﬁhvﬁl % BT RT3 3T F U SATRIe IR ®Y G0 §T Be @1 grar A w@et 8 1 59 T @ g 1/32) BT
TI?GI'QTQE:"Q :

5 & TR HT BT A0 e §, RO I aoremdt 7 wad v fran 81 I o (T SRR B AT, 9o 31 4Ry 61 varfR o ofiv add w A ¥ R e
Wl 37 A 39 3ifg &Y AR FRTa, St uda uR 3gan o1 @1 A 35 & e a1 a9 on1 (7% 3 9 € e &1 IR @) YT g5 I 31 e wa 1 P iR ag
T | THA 39 T BT YRR B3 I ferg Fraar fran ok aor & aifg R wor | 5w = aranigt 3t wran o1 fokty fran | S 9, 3ot 3R SnesT=1 Y sFTad forar
TP UYT 55 BT DS g T Y671 55 2 T B 3T B1 WA Pl STam, 9 I 31 S1ieri St ol €1 9 xRl I RR U7 Helur 3% O 1% 575 & e e 411 §5%
Hrurdt 3, I s T BT A R ¥ 1 9 5 Ve 1 $) We W UT? 9% IRt v W/ SRTI W g1 ofR Ui Fe 9 W o 3 5% § et o vt 5%
A3H@! fis W T91 § WER fHaT| (AR 3 UaT ¥is & gored § 6% GFdl §2 34 § ghe-chS 81 T 79 Od 31 Yd18 Gl & Wi g9 & R 97 & SR |
g SBT| T 7 Tl B YRT P SIERGAT I T UT1 3 T8} et I el G 75 8T AT| §¢ 3 J B AfRagH= Avan v W ygR fam) wrar S &, 72 - ver 4mi 3
7T AR Ut <ft, S T O 758 & WY UL €)1 9 BT Y TR I STA-URT A TST AT, S SHT1 A8t S, fram T8 et | 330t I % a9 # gl ot o et
TP THT G UT| TR SHBT & UT1 S TR T 1 A A 2, 3] & I ot Y weraif Y e @ i

STRIE T Y TG A9 I T A BT I TS
WRH: S GHY BT UEHRS (e Saa1 &1 AT S 412
1. fasg

23%

3. R

4.3

Correct Answer :-

- ¥

27) HRAAY U1 S R, T8 PEET BT SR 41 1 T A R a0 79 I3 B el R Tgt A o T g, Farf S wa & SErd o1 oft e g
TRT g3 BRT | 7aq (A-Hileed T W-a¥ I 3, ) T01 91 9 $© 9IR a4 Ugd of 9! 11 H14¢ § e Ridl I qeplei HH1el § 1] 91 frearig
AT 3T T yEfera fawr 99 & warr fied 81 3 S 99T &1 U6 WS 471 575 &) d6% &t B1aiee JA § oM frus a1 fhaefmi 7t o gait o
mﬁﬁu?sﬁﬁ?mﬁﬁawfﬁhaﬁl 5 B TRamAT S 37y & T SuiRie R @Y Wi §U el &1 ofar ara wad! 81 39 € @ $Rg (1/32) BT
g 3™ T g :

8 375 & TRIEHHI BT qU PYAT 5, o170 S ISIURT - T Ul (641 €1 3 St (T SRIR) B AN, 5T BT URT P WaTied (a1 SR udd W AAfeat & fog I
T 3% A 39 3ifg &) AR FRTar, St udd WR 3gan o7 @91 A 3= & e a9 a7 mn 4n) (375 9 9 € =ifea &1 e @) ST g8 i 3 e o R ek wg
T | TE 3T T B YRR B I forg Tiear frar ok awr & aifg W weR fran| 5w = aranfagt <t wran o1 {3y fear ) S g, 3wt ok a1 &Y s fsar
TS TYT §5 PTHIS UF TG §5 3 T 5 Sl 1 T T STarT, S IS Y Siferat 1et oimelt 31 37 exelt W RR UgT1 e o 37 4R 575 F a5 aon o1l §5
HHUTR , IE S T3 BT H a1 ¥ 1 9§ F VeI Bl HY) He HPaT U2 98 T 99 § ERTI W T AR Ui Fe I W 0 I g7 § w9 oI ¥ §=
A3TF! e W a9 A YER fban| (@IURN) 34 YT WIS & YHTad § Sg Abdl 62 93 & ghe-cPbS ol T | 99 el BT Jd18 dlivil &t T g9 F R a F Fw A
g ISTI TA 7 A B URT P STaRed P AT 471 3T T} 5Tt I Jeal g I8 I8T AT| 5% 7 37 B Afeag arar R ot weR fran aar s &, AR vsran o
Pt AT ¥R ULt off, S T 3R 758 S WY UL €11 G BT TR I STA-URT A TST AT, S $H1 Tg S, fasm 7€ et | 3 3 & a9 § gieew o) ot anft
B THT AT UT| 3T IADT &S 4TI S T 1) 1 1 A €, I € I o1t 1 URTeil Y 3 @ Tl

ST T B IGET A1 T T TR BT I qa5Tl

U 375 P TR 3o 3y # fobg fawaR sl e gu e
1. siio=iie

2. 3THI PR

3. IR

4. YT

Correct Answer :-

. NRye

28) WRAIY BT Bt TAYR B, T6 P BT 3G 30 71 7707 3 R &107 590 370 Y evel) v el AR uifa v g, warhi S v @ @it o off v g
Tg1 g1 §NTT | e Y- BT wre-ad I 3, RRIeht 7o 391 X $O 59k a9 Ugd €1 gt 91 Bde & eMie widil TR depreiT aarel § Hgr! a1 freanis &t
i o Ue yafer R R & ywmor et §1 §7% 39 9 @1 e WS ATl §% @ Ady §) Feafew ware # shew e a1 fraafat wdt o gait
mswﬁruaﬁahﬁmeﬁﬁ'amﬂﬁhem % DI AT (U MY F T SAU-TRI AR &1 Gie §T BT HT A1 WA I 21 39 € | HB3de (1/32) T
qg ST :

v g% & TRTSHHI BT U Bl §, e 39 aoreit 3 Uad Ugd [har 81 S99 oY (TS SIR) B HRT, Sa P U1 6t wated fbar 3R udd w A & forg wwr
T 3% 3 39 fE B AR PR, St W e o7 @A 3% $ Ry a9 a9 ATl (@ A 9 € et o wRar @ien,) $urdh g5 el 61 a)e a3 ek 9
TAT| I ST T BT IR B F ¢ werar fram ofiv a1 & oifg W wew fran1 g7 wranfat 3t wren 1 Rty foram | oo <, St ofR simerr 61 s fomam
TP YT 5% BT BIE X3 7 36T 3% A T3 F 30 &1 TN PIe ST, S U5 3} siferai S Wiell &1 7 e”ell IR AR T AU o 9 IR 575 A e 9l 411 5560
Ao ], S99 3w X730 BT 5 51 B 1 97 5% S WERI B $ We Tohar Y12 98 T8 a¥E § TR W BT 3R uie Fe S W Ot SR 5 9 e o it g
A3TP! 06 IR T & WER 5411 (AIUR) 39 YT s & GHrad § 388 A6dl 82 T  ghe-cPS 8l T3 | 99 ol 1 JaT8 a3 I g9 & RIT g & S A
T ISTI T 7 7 B URT B ekl P TWT UT1 3 T&t Tl I el g3 I8 ¥eT UTI 3% - g1 B AHKEH Arar W +ft wer fvan arar e f, A vgram a3
P AT T St A, TR T A IO &A1Y IS §Y1 9 BT Y4 IRK I F-URT A TST AT, SiY Sb1 A8} S, faemT Y weeit | it gy & o F gl dl o enft
T BT G UT| S ITHBT &M T | S1F TRdr ! Y 3 o §, A9 & o wrer Y wreii &) A @ Ul

IR T P UG 13 I T U T IR 15T
UH: 35 1 a4 & vy garet § oM Ry ok fradfat wdt s
1. SR Afew
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2. BfH
3. ARG
4. afew

Correct Answer :-

29) WRAAY AT T STAYR B, 76 TN BT 31T I 31 77 A oy &1 590 Jw &7t vt = vpeht AR wid v S, Farie S wwa & et o1 oft e g
TgT g BRI Fvag fAy-wfe @1 wrelisaw =i B, Rt vo 91 9 o 59 of uga 8t gt 1 e § smie wil W aepTedl werer § @) At e ot
T iigar o T wafer fawr €9 & waror frad €1 57 99 9HT BT U6 HHES YTl 575 B AT &) Biaied ware § e fryw a1 feaafai 1ét o gait i
mg‘—rﬁua?sﬁwsmaﬁﬁemfﬁhml % BT IR A 2y # U SA-Tiie fRaR &) Tl gU SeTHt &1 2far A It 81 59 € & %1ag (1/32) &7
g S TSI S :

8 57 b URTHY T G0N B §, R S Tt A W) v o 81 39 oty (T SRR AR, St w1 oy Y wariea fa ok uda wr St & R e
Tl | 375 3 99 31fe &1 AR R, S uda R Tgar AT @ur A 75 $ Rorg awr o= Al g A 9 € i &1 @) Yt g€ e $1 ave ot e Bt ek W g
T I T T B TR HRA F g Far fram o a9 9§ 3ifR W ver fan g0 = aranfyt o aran 1 Rty far) S i, SuT oiiv arerr &Y srTge fsam
TP YN 55 ST SIS T TY6T| §5 A 93 & 37 D1 T BIC ST, 9 U5 1 SITerdf B el 81 97 el IR AR U971 7Ry $b 94 IR 575 & o) el ATl §°56
TRl 3, S orE WFH T R T B 1 9 i 3 WY Y ) W el A2 9% 98 RE 9§ BRTI UR BT SR Ui e o1 WR ot I 5 9 ot oI vt o
AP fe IR a9 | VER a1 (A1) 39 YT 6iS & GHEa # 38 AHdl 82 99  gHS-¢Pe 8l 3| 79 o BT Ja1g 4l 3l ara g9 & R g & WA
TE 3T T 7 T BT YIRT P STERGRH 1% T@T UT| 3(d T ST I Al g 98 I AT| 375 A T B AFIEH urar wr o W fvan) arar S <f, g7 i v ami g
P AT T Ut A, SR I A IS &A1Y UL 81 T BT G TR I -SRI A UST AT, SiY SH1 g1 S, faamy T st 32t e & 99 # giew d) o endt
T BT G ATI ST BT T& AT | S T el Y R ol &, A9 & S ofer Y uredi &) A Tl

IUY TR B UgHR 1 T T YR BT I« IaizTl

UR: §5% A 79 &1 Giodet fow watht o +ft uer fasar
LA R

2. TR

LW

4, YIAT R

Correct Answer :-

« HIAIWR

30) HRATY BT B TAYMA T, T6 FEFT T 3 I 31 T 3 T 4107 59 31 1 &R W Ugelt AR Wi ¥4 ST, gt Sl wed ¥ ot o1 ot veed sun
g1 g3 81T | Bidc [IY-HIiecd BT WRiaH U= , Sraa w01 $91 § $9 IR a4 uga €1 gt Y | Bide § oMo wial WX debrel= Jrel § B! a1 i ot
e firaar Sk ue yafera R 9 % ywmor et €1 §7 SW T @1 UE T AT §% B 4@y 8} Frataw warst # shw s a1 st wdt o gat 6
mﬁsﬁﬁua;eﬁvwmaﬁﬁawfﬁhaﬁl % BT ARG 3T 3T & T ST IR $ G0 T BEHI $1 erar 9 7@t ¢ 1 39 € @ g (1/32) a7
qg S Toig 3

H g5t $ TRIHHI BT qui Bl §, I S Tored A Wad vga fohan 81 S99 aifg (e 3RR) BT AR, 9a 31 YR 3! waTied forar ok udd w AfEt & forg wrar
Tl 37 A 39 3ifg &1 AR FRTan, St uda U= 3gan 411 @p1 A 5 & e a1 amar om1 (7= A S € e &1 e @) YT g5 I 31 @Re W A1 3 iR a9y
AT T U T B IR R I T Hear Fam iR oo 9 oife wv wew fman1 o 3 rantat ot A o1 Rty forar ) S g, St o e 6t s fama
TS UYT §5 BT BIS W T ST sz%qa%sﬁﬁﬁﬁﬁmm,ﬁﬁﬁsaﬁmmmé‘lqmmﬁwﬁﬂwl TRIUT B g 4R 5% O TS 991 AT §5%
Turft 8, 384 8w W3l 1 A f5a1 11 997 575 & WERI &Y S8 g Udbdl UI? 98 31 avg & gRTI W 81U 3R Uid $e o W 4t 389 3751 A 818 aRI vl 1 55
A3TP! 13 IR a9 A WER 511 (AIURON 39 YT IS & GHrad # 3g3 Abdl 82 93 & Zhe-cPbS 8l | 99 Wdl &1 Ja1g il Sl I g $ R A F Fw A
g 3BT T 7 Tl B YRT P STaREHAT AP T/ YT I T8} 7t I I Gall §HT I ¥8T AT| § 3 J B gt Avan wR Wt ygR fan) wrar S Ff, 32 - ver am g3
P AT T ISt A, O T 3 IO S Y TE €| T BT Gd IRR I SA-URT A TST AT, S SH=1 T6 1 S, e 7€) st | 32t o & 99 # @i o) o ot
D THT G UTI 3R STPT & UTI S TR 1) 1 e o &, 9 €1 I oTet BT U7l Y 3 3 Tl

UL TN B UG 12 T T TR BT IR T3

W= BidGHTA Myt 3R wuteif § wm srarffifa otz
1. TS

2. YA

3. grafaelt

4. 3iR™

Correct Answer :-

Topic:- General Sanskrit(L2GS)
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eellent afScdr TeNfAfseey ey gaccl A -

3TRET T W] [AEAsTI=T A1 |
U TAEATAGAT [AlA o FHEAT: ||
e gi: Wuf&eruﬁldlz |
YR TlcdH ST of TRcTSTTod ||

TT THeRY Il faeafd AT |

T QA T el RATITSI ||

o C

£~

TY: AR Qeefa |

Correct Answer :-

o dcd:

eellent afScar STfATESeeT Teaed gaccl A -

2)

31T Sfad o 31T ereTiiae |
3ITERT: TACRIRT Teehifciead e ||
el ﬂaﬁ‘r fAET fag): amEr corgst: GRSEIE #3: |

3TRTIAA WAoo TUIRRIT HlT fae(T: ||

BT IGET TATIUGH 31T SEHATE|
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Correct Answer :-

3)
U=ae gfdcdr UesTEd Qgédjcdi A -

3EAT: Sled 2R IH I UTel fad| AT AT Saglellel: HAT o
hHCACAT I SEEIVT el STaTeelel: RacoRelvs Ga Afehcard
TRI| el STeXT 3T AT TE aF 3P| YA 9 USATIREY
TohieHe Taearer fhf>acentel amad enMfedisiohdeied
faegseiiaeaidcarerdl I UGl IaT 2’8 dH a¥ SIdTglele:
TTTH e TIGH 3TId dal Sloadl d&d YU FgIidehl ATl AT dg®
HEIGIE CEIadTllelod{d A dTelaglel AT AT TUHAHTTIGH
3elehcdalel| dal SMACT 3feey el Fa=r T JHRUACAICH Trcdddl|
3EAT: i TS ITeell HETeToT: He: Foed: el sfeetram: gat gt
TSt AATAH| ST 2R TH I WhHHAT TIeT GUET 37,
fohed 23¢o TH ¥ UT: TI fASTT Ssed] TTAHlcTICH 3eleld | 5
T HooldEd GFRUIS QMichlhell 37U Fdel elcdUTelldciT 3T | &
godl 2]¢y dH T¥ 3Feiel 3¢ fGeligeh SIH 3Aricelr Mforeniia:
feara=ad]

STaTeyET gist udl-

ERIEEIRG
o]

I

4)
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TR=dc gfscar geaed Qolgdgcdi gaad -

3T FEITHIGET SIed R0 JURE, ¢o8y T8 I¥ FAFIYIH 37e7dc| 316
Toar TS eell AT T AAdT STeadr Teel A A 7T AT Id
sfeeqr AAT: STaTetarered Al 3Hid| Toliaea gRiFseRr R feeelr
9, SEUSIIN T 33| STATALTR 31T S90S 8l aTcar fefateT
AEIdcATeR) YaRFAHd | feTeeay Rd Ufdfiged 3/ faATdrelshus
ufdfSad: 3re1ad| 37T faare: WAIHRAT ST HART e 37e7dd|
3T TH: T IRET TGer:, TRl T Sl Te Framsarl Far

IYGHCATIH 36T hieAss: HIdT Aol FHIAUNTT: dal 3 AR

Gedl HIHHETART: YUHAAAd: 37T I3¢ Ty 2’¢y aH a¥ Tellaey
HIAT ARAET TelldH AT 3IariGiar: Mferenfa: gl der 2 Teiia:

JTHAT 37| Tdlal Ided dgAd Ued 377 geT: el Hea uc,
Mo

afafSsd: | Toele-e e, EAE-YGeR T FHATIRIT: HATE eal 31T
TR FAHT: FCT:| 30T FAATH, e, Aerdl, Fggaed 3|

TY: Toligereely Aglcasy far -
. Sirar e

| o Aeeft

| FGTcHAT It

, TS, aTeelT

Correct Answer :-

_ TOIST ITTeedt
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oellent afScar eNfATESeea Teaed gl A -
31T Shifad e 1R y==ilae |

31N JHERIRY eraiehiicieas e ||

el o7t RIT Taesl: e eoradl: AT &3 |

IMRTTAT W To G TRIThRIT TAT fIe7T: ||

vdge |ar faea: #afed |

. 03
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I=ac gfScar ueAEd %ggagcdi o -

3EAT: Sl 22 IH I YIAE 37e7dc| TEAT: AT STdglelrel: HIAT I
hHGAT | d§bw|i FHl STaTglellel: [Eacelelus ol Ifhcary
STETI| deT $TeXT ST AT TE T 3PTTOA| UL U AUSATINEY
TehEHs] Tagarerd fohi>dchlel ATdd QMo isiehdated
faegarciiiaeaidearerl @ 3Usdl Jar 2’8y dd ay Siamelele:
TeITAATTUGH T dal Slead avd U Hglide 3iedd| Al sigw

HEIGIET CEIaHTTeTocd S ATeldgley M AT TTAHTAIGH
3fefehrare| dal AHAdT Soedr Meedl FeIelr Ta TaRvATCTUGH e
e qfd: ST el AgemeT: HHe: Teed: 3MHId| e gdl g‘aﬁ
TSllad=ordl ATAH| 3T 2jb dH I kT T Ul 3787dd,
fohe e3¢0 T aY U e Ao ofeedl YeleiaicTucs eeld| 3
T TooT e GFUI RMhTehell 3T HICT PlcqUTeTdcUlr 3TeTCT| &
god! 2_¢y dH Iy 3feFcie] 3¢ T&ageh SUH 3aTTGeAT MicThfar:
feaeTead |

sTegueTeell el fgadem?

2. ; .
, Tawrerse
3 3IATiGal I TelpIa:

Correct Answer :-

. 3arariear Mmichfa:

8)
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eellent afecar renfAfseea Teaed YA AT -

3R o Wel fIeaTere =i |
IR faestidgdr fatAfed A& ||
faeet: gt IR Ifdgeaae: |
TR AlcdHoTe o RIS o ||

T eTHedY Ical faeafd AT |
2T qdehd H ARHATITTS I ||

3cdASTT: Tdd o IR led |

| TIRsEH

Yoliehl fScdT TeNAfESee ToeAed YeH e’ Fadd -
31T Sfifad el 31T ueiiae |

3TN GeeRIeeE eaiehliciead e |

el §To191: TG TagT: MWl Telasl: gt 8731 |

IMRTTAA WeTdoGAed TIThRIT T fIe7T: ||

9)

3R Ud &9 |

FRICC
g
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eTThol

4,
Correct Answer :-

10)

IR Uil TR YN AT -

3EAT: Sled 2’2 JH I UTel fead| AT AT Sargelrel: HIAT o
HHICAT I q§deIi T STalglellel: Eacetelus gl fafchcant
3T el sfeeT 3T anr @5 aF 3Gl UL, ST AUSeTTIREY
ThEHA Taererd fenf>ecentel Arad enfedicihdere
faeasmRdiiaealidcarer’ o 319ad| Far 2’8y dd ¥ Sarglelre:
TITAATCTIGH TTHd el SToadl a¥d U FglidehT 37efdc| AT 5igw

HEIGIET CEIadTIleloayd A dTelaglel AT AT TUHAHTTIGH
3elepcael| dal AT Sieedl Mot e T JHRUHATTICH Ucddcd!|
3rear: afd: RSt el FgreTeT: Toe: Feed: Hdl sfeear: gdt gt
Tollagdsordl JadrA| 3T kb dH I ollehTsl Tdel UIEAT 3787dd,
fohed ¢e¢o T a¥ UaT: IR fIoTd Setar JenaaicTues ieleld | 3
T Tl e GFUI RMehTehell 3T HACT helcdUTAAdcURT 3ERACT| &
god! ¢y IH a¥ IOy 3¢ faAga 3 3Iariear Micrene:
feaseread)|

'JSHATE 5T & hd Tcad: fagad?
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1.
2.
3.

G

4.

~

LS|
CICE

Correct Answer :-

12)

eelehl afScar reNfAfiseey Teaed e#ccl A -

3RS T Wl [aeaT87eT o |

fel

UReY faesfagdr fatdfeca dear: ||

faeet: g R gfdgeaaE: |
IR AlcdHoTel o YRS Tod ||

ToIT deTHedY dcdl fdeafd A |

o]
T Ydohd e hd RIS ||
a C o)

T he ARSI |

4. o)

13)
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URTac gfocar UeIEd %Aagagcdi A -

3T FGAATTET STedl R0 IWEE, 3¥Y aq oy ﬁﬁgﬂﬁ?{ AT I
e st aTeell AT =7 Al sfoeq aTeedl 3eae| &l F Jed ad
sfeeqr AA: STaTetarered Al e Tsiiaea gRIFsTeRr 1T feeel
I, SEUSHATIN T 3787 | STATAGTR 31 $I0iUS Q8 Icar fefeier
HAgIdcATer YAHATHT| fALTArdl 81 Ufdfeiged 313 faAmTareehue
ufafSa: 3re1ad| 3y faate: AATEAHARIT serfere AT @ 3efad|
3T TP T IR TGer:, VAT T Fodr AT sl Fa

IIGHCATIH 3T HiAsS: HIdT Hordlleell HAUETT: del 3 AT

Gedl HIHHEEART: JUAAAd: 376dc (3¢ Tl 2’¢y¥ dH a¥ Tellaey
HAT ARAET TeIAHeAT 3IAATGiaT: Ifeleplial: Tl dar 2 el
ULTTHAT 38Tac]| Fdled Tl TgHAd Weh 31 Ye: TeIleidloal Ig

o ]

afAfSad: | Toele-Ueerd, 3EHH-VCRT T FHEITAT: AT Hedl 31
FGR: I STIT: | 31 HETATH, M i, Hemel, Headed |
ool SgUrgeteor o 31T fehate]cd?

AT THG RAETOTH

1

T A RAEGTOTH

9 gapuoliery _ Heek: 3eTeR0Te |
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Correct Answer :-

® el gfscar AfACSeTT IeAET YA FII -

3TRET o T AEAsTIT A |
IR faesfdgdr fatafed der ||

faeet: gar: qeRiT ufde=aHra: |

YR TlcdH AN T TSt iod ||

AN N O

T2 dTaeRy Icdl faeafd A |
T dohd & hd RIS ||

I
< hd < C
a C 1G]

YRET 3T USIT: FaTd |

, ol
, ad
3?&5[
!

Correct Answer :-

1

17)

SERARATAT o heFeha ?

PSIEIES

1.
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19)
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g IfScar ueaTey ?A&Qd_-alcdi oI -

3TEAT: Sled 2R2 o I Umel 37edc| 3TEAT: TUAT SIdTgellel: AT o
hACCY M| TgeIVT FHeell STdlgleller: FageNelvs o fafhcard
I dal SfeeT T a W o 3NTSA| U ST AUSHAINE
UhiEH TdeATerd fehi>acehlel ATae eMfediciehcdsled
faegeRciiiaeaideareryl I 3USdl Iar 2’8 dH Y SIdTgele:
TTAATTAIGH 3TeTeTd dal Sfeadl a8 YU GeIiAent 31s7ad| AT dg®
HEIGIET Celadeieloc{d AT oToaglgl AT AT TelTHieTIGH
3Telepcldle]| daT AT STeedl Mol eI T JHROHCTIGH UTCeddil|
3TEAT: Uict: TOIST IMTeell HGTeTIT: TG Teed: 3| Sfeeeram: gdt gt
TSlladsoral ATAH| ST 2]6 dH I cliehdT I Ul 3797dd,
fohec 2o¢o @ a¥ Uof: e TaoTd Sfeeal UeIAAT-AuGH 3TeMeTcl| 5
TR FoolIEd GOl Qiehldhell 3T FdaT ahelcdulelelcdcUdl JEAT| &
god! _¢y dH a¥ 3Oy 3¢ fATSdh STH 3IUAMCAT IMictentiar:
feara=ad]

31T JifUeRmEe sfeetEreel o= Ta TaRUEHAT THId -

) ATATETGI TR
_ NelegyTe:

, ThrSTaTTeedT

.. SaTEellgEk

Correct Answer :-

 SITITRTGIRITEAT
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¢ellehl gfdcar SrenfAfdsery Teaea gdaca Faad -
31feer Shifad o 31 R ga=iiae |

31EeRT: JeERIRT ersiehiiciead e ||

el $To191: TR fagsY: QT Tefasl: gttt 831 |

3MRTIATA WAoo WRITRRTT Al fas(c: |

vd feR &ad: |

* fAEdUEy 29 &t GARIT ?
) AR Icholg&T:

Correct Answer :-
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Correct Answer :-

el

24)

TR=dc afacar U2 %olxgdgcdi qaaqd -

3T FEIFHIGET SIedl R0 IR, o8y dd a¥ FFATH_ 3787l 31T
Toar T3St el AT T AATT Sieadr IMeel SEAH| &l & STTd I
sfeeqr AAd: STaTeTerered Al e Tellaey TRiFsehr R feeelr
I, SEUSATIN T 37e7ac| STATARTRY 31 $I0IUS & Iear fefeier

HAEIAGITOR ArHTHd | [RAGTeal TR Ifdfiged 31 [adAeTaresas
ufdfSad: 37e1ad| 3T faars: AfAIHARPAT ST AT e 3e7dd|
3ET TH: A IR TGel:, THl T Fedl 3ifea s gar

IYGHCAIH 3T ifelso: HIdT Aol FIAIRTT: darl 37 ARTI

Gedl HIAHEEATIT: TAHAAIT: T3¢ T 2’¢y¥ aH a¥ Tellaey
HIAT ARAET UelTAH A 3IariGiar: Mieenfar: garl der 2 Jeiia:
ULTAHAT 38Tac]| Al T TgAd W 31 Yol TeIleldloal Ug

o)

UfASS: | Toole-S e, EAH-UCRT T FATIRIT: HATEH heal 30T
I AR SA1d:| 31T AT, enfeafm:, HTT, Hgeaed T4 |
9

JellaeTeely &hel TeTHeAT 3787ad?

ngii HR Vlledoc H

ICEIRGESEG]

1

2.

Page- 34



3

4

fOq: FROTeTraRe,

;. FROTATCHA,

Correct Answer :-

cHI(:DiI HUlloocdH_

eellenl afScar eNfAféseey Teaed el A -
31feer Shifad oy 31feeRr ga=iiae |

3TN JERILT eiehiiciead s ||

qol aia?T ferEy fagar: emar corgst: AT &3 |
3TRTIAT GeloceTed TR Tl TI87cTd: ||

TrCod & HelHolel MATHATET |

26)
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TR=de afScar U2y Qg&égcdi T -

3T HAGIHITET o R0 IPFE, 2%y ax a¥ ﬂﬁgﬂ‘ﬂ{ A 3T
TOdar TOhs] aTeedl AT T AA Sfeedr aMeel 3| &1 & S=d I
sfeeqr AAd: STaTEelmered AT 3| Teilaed TRIEsThr fUeT feeelr
A, SEUSAAIN T 3Te7ac]| ITURIGTR 31 $90lUs &eT arear fefearer
HEldcATer TdrHeTd | feTeTec TR Ufdfedcd 30 fadeTarerehe
ufdfSsd: 3ietad| 3T faare: AfAareiAsar sefcae AT 9 3e7ad|
3T T YA IR Tger:, Tl T Foar fed Frangnl e
IYGHCATITH 36T hiAss: HIdT HolI el FHIAUNTT: dal 3 IR
Gedl PIAHEEAAT: THAT: FHAAI3¢ Feiay 2’¢y TH ay Joliaey
ATAT HRAET TUHAT Sarieiar: Miceniie: garl dar AT Teiia:
TEMTHAAT 3T | A TI TgAd U 3R Yo TeIeTato ol Ie
UTATSa: | Toolla-UoEd, EHH-UGET I FHEIRT: GATS sheal 30
TGA: FAGMA: SAMC:| 31T FATH, Moo, Aurdl, Fgeaed 3|

‘AT ST 3T UI: SdTd-

Tl acas:
2. o] 9

| o dege:

UHY Iegey:
4,
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Correct Answer :-

28) .
eellenl afScdr eNfAfiseey Taed eHccl A -

ic
, HEL:
NCIE)
o

3RS T ol [EaToTeT AT |

o)

URET [aeaAtagdr At ed #ear: ||
faeet: g IR gfdgeaarE: |

RS AlcdHTAT o TRcTSTod ||

AN N O

T ITHgHY Ical fdegid A |

I
S )
< < (d

eIl Udehd & IS d ||

a o )

TIEATIT TT: o A IRFTT |

Correct Answer :-

.;ﬁa:

29)

Page- 37



IRede afocar YT YA Faad -

3T FEATET SToH R0 T, 23yY ad a¥ ﬂﬁgﬂﬁ?{ Il T
TOar TS aMmeedT AT T AR STear el 3EdE| &l 7 S=id I
sfeer AT STaEeTerrd T Il Toliaey URiFerhr fAe fgeelr
I, SEUSIIN T | ST 31T S70iUs Gef aTear fefaAer
FETdc AT TAHATT| fAeTTeArc TR Ufdfaged 310 fadAeTdrershue
ufdfSsd: 3ie7ad| 3T faare: AfAAHARAT ST AT e edd|
3T Th: T IREA TGer:, TRl T Fodr ATET s Ta

IYGHCATITH 36T HiASS: HIAT HoldeMleell HIAUNETT: dal 3 IR

GcdT ShHHHTARIT: JHAAfd: 376dd 3¢ Ty 2’¢y¥ aH Iy Tellaey
ATAT ARAET TAHAT 3AAIGTa: IMNTelhlia: gdrl darl 2 Joid:

YITAHA | Tdld IId dgAd e 317 et TITH T Uc
o]

UfAfSSd: | TooTa-ISeR, 3REATH-TeRY T FATITAT: FHATIT Hedl 31T
TGRA: FANBIT: STT:| 31T AT, Medfor:, HUT, Hegaed 3]

TSasT [Udeg: Y ARd-
, HelcHl IMMeedl
X P{HIG:

, TSt ameeqt
i gldia<Lellel:

Correct Answer :-

30)

Page- 38



TR=adc ufocar yeaed %olrs\dgcdi AT -

3EAT: Sled ¢R2L I ¥ UATel 317dc| EAT: AT STargelel: AT I
FHHAG! ST d§deli FHHT STaTelellel: [Tacoelvs e Rfhcary
3| el SfeerT 3T ame §E o 3PS IRATA 5T AUSAAIRE
TehEHs] TagaTerd fohi>dchlel AT QMfediciehdeled
faegaciifaeaidearery @ 3Uodl Jar 2’8l d& a¥ Siargelre:
TTAATCAUGH 3787 dal Sieadl d&d I Felidert 3isTad | AT #e®
HEIGAET SEIaHTATArcH AT FTelglay ATET RAET TeleTH i auaH
3Telepeldle]| dal AT Soadl Meell el Ta THROHTCATGH TTeead|
3 ufd: ST et AT Toe: Faed: 3| sfegar: adl gt
TSliadsordl THTAH| ST 2Rl dH TN SlhasT TIel Ul 37979,
fohee 29¢o T A Uof: e Ao ofetdl YTz AuCH el | 53
T oolaey G0N QMehichell 31T TAET HelcTUTATCIRT HEAT| &
god! 2’¢y dH a¥ eI 3¢ GaTgeh SIH Ianfiear Mfcrenriar:
feaeTead|

sfoeaTeely HAGTRAT: STerTdTAHGHEd-

SEIELR

1.

Topic:- Science (SCI)

1
) Find x, y and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
AR QT v g AT @HiERoT 7 fEERST IR et & amAsops @ dear v
mﬁﬁmmx y3'ﬁT z AT @

Fe;03 + xCO 2> yFe +zCO:

lLx=1y=28&1z=1
2.x=3,y=28&1z=3
3.x=2,y=3,&z=2

4.x=4,y=3 & z=4
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Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /

afg eafy T U wrem § yia €, A’ e

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
HIEH & HUI, T S TR S G & daad RIFIIRG 81 5|

2. The particles of the medium remain in the state of rest./
e 3 B fasTIER & 7 ¢

3. The particles of the medium make to and fro motion about their mean position./
eOA & BT, 391 Ared fUfd & wiiv 3erar- niafa g1 2

4. The particles of the medium are also propagated. /
e & T off TRTRe 8 €1

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

eH & ST, 391 A1ed FURY & T 3eRIeR- Mafa g €1

3) What are the common fishes selected for pond culture systems? /
aTee Had= yonferdt ¥ forg wafta 3t 7€ W Aofedl $ik-w 82
1. Sharks and rays / T 3IRY

2. Sardines and mackerals /HT%:T G‘ﬁTﬁW

3. Mullets, bhetki and pearl spots / mj@, ﬂeﬁ @?W@Tﬁ’

4. Catlas, rohu, mrigals, common carps and grass carps / Pcdll, ﬁE, i, I DY 3R T BT

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / Pcdl, ?:@, HId, I BTG 3R T BT

4) The phenomenon responsible for the twinkling of star is: /
R # fenfenrge & forg Iwrerdt ge §:

1. Dispersion and reflection / YR 3R e

2. Reflection / TRTAIA

3. Atmospheric refraction /aTﬂﬁ?aT*ﬂH 3Ugd-

4. Dispersion / TRIR

Correct Answer :-

« Atmospheric refraction / AIIHSY STac

5) Which one of the following diseases is almost eradicated from our country? /

Frofafaa & A fra Fardt 1 g 2= an @ a g mar g2
1. Dengue / ST

2. Malaria / HIRAT

3. Encephalitis / AfTH 2NY

4. Poliomyelitis / Gferal

Correct Answer :-
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6) The hotness of an object can be measured by its

forlt avg & THiee @ SUP GRT {41 ST qhaT g |

1. volume / 3

2. Temperature / dYH
3. Size / 3{TPR

4, Density / Y-cd

Correct Answer :-

« Temperature / dYHA

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

T UgaH & Sla B ATgRI TP o 81 Sra Bt srafir ar 82

1.0.5s

2.2s

3.1s

4.0.1s

Correct Answer :-

e 1s

8) Abody of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5 seconds. The acceleration produced in that body is: /

10 fo5 T Zo0AT= &1 To AP, 10 Wiex AP e & Te TAF AT 5 Vs F QTP Afes Tag & quias niaxia g1 Su e g

mﬁ?‘f W%z
1. 0.5 m/s?

2.2 m/s?

3.0 m/s?

4. 50 m/s?
Correct Answer :-

« 0m/s?

9) Complete the statement with the correct option given below:

Matter is anything that

= faw e faeenl # 9 e} fapeu g HuT &1 guf H3:

verd a5 & St
1. occupies space and has a definite mass. /

R SRl & SR i1 web R o e 81
2. occupies space but has no definite mass. /

R T € AT 851 P Ffyer sror i e gierr 21
3. exists as a solid with a definite mass. /

T FAfAd S & 1Y U 319 & =0 § Hieig S 2
4. has a definite mass and a definite shape. /

% fYd goaHr U9 Ue Rfdd seR S1dar el

Correct Answer :-

» occupies space and has a definite mass. /

T IR & 3R Ry ' Ffd o gl B
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10) Select the appropriate metal to be used to change the colour of an aqueous solution of CuSO, from blue to colourless along with a red
brown solid getting deposited. /

cuso4%fv'w?§u=r,ﬁi'aﬁmaﬁf?n%mmgen%aﬁsaﬁamﬁwﬁﬁ?nﬁ@%ﬁmﬁ%ﬁmmaﬁmﬁm
Tg BT 99 B |

L. Silver. / 3Te}
2. Gold. /|
3. Mercury. / URT
4. Zinc. / ST

Correct Answer :-

« Zinc. / SRl

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR a7t T B T S & awet & 918 § g9 Sg Fife:

1. As area of contact reduces force increases / JU®H ax Waﬁ@' aﬁm?ﬂ

2. As area of contact reduces force decreases / TUD &-ﬁm E?Ief Iada WE?R‘IT %I

3. As the area of contact reduces the pressure reduces /& & &H gH ¥ &1F $Y BT &1
4. As the area of contact reduces the pressure increases / Tudh &F HH gH I 319 Fear H
Correct Answer :-

« As the area of contact reduces the pressure increases / IU® & HH 8H I €16 &dl g

12) A screw gauge with zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0 mm
and head scale reading = 52 divisions. Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire from
the above data is: /

I GUR $ 1Y TP T 3161 TP R & R $I A & g 3w & ol oM = et $fn 3ar @1 e ae fgm - o finf sz
T AU & = 52 W | fean man @ for wRer wrues &1 1 frfl, 3 AU & 100 ST F S B | WG YT R BT A ©:

1. 0.0052 cm / 0.0052 Tt
2. 0.052 cm / 0.052 It
3.0.26 cm/ 0.26 YT
4.0.52 cm/0.52 91

Correct Answer :-

« 0.052 cm /0.052 |

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long. The green material is a mixture of: /

SIe U dfid I U od FHY P 318 a1d1aur § Tgdl €, |1 39 W U g¥ T P I¥d oH SiTdl 2 | I8 &7 uard i ded) &1 v fygor g:
1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO3 / Cu(OH), Td CuCO;

3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4. CuO and CuCOj3 / CuO Td CuCO;

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /
PIagE & Srgfea Yored &1 T B0

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PIAESA P HU I qP -To] oI §, OFF AP [ I8 L Ta| BIS T oIl §, T Dlased faaa Sl fRR g &
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2. Colloidal particles are not visible to the naked eye. /
PIAIgSH BV AH Sl b1 feams el ad 3

3. The size of colloidal particles lies in the range 1077 10" cm /
BIEST bVl BT SMBR 107 ~10- JA. BT A A A G

4. A colloidal solution is homogeneous in nature /

TP DIAZSd [dad WPid § qolda gial g |

Correct Answer :-

+ A colloidal solution is homogeneous in nature /

TS HIAESd faea gHia & Feiid g |

15) Identify an isotope used as a tracer to detect the blood clot in human body /

AT TR A Ta F YFb BT UaT aA & U 0 38R $ w0 H T 21 91 T S B g Bl

1. Uranium — 235 /u:\fﬁm— 235
2. Todine -131 / TSI - 131

3. Sodium — 24 / AfSTH - 24
4. Cobalt — 60 / DIETeT — 60

Correct Answer :-

« Sodium — 24 / TSTH - 24

16) The product formed when iron reacts with steam is /
1. FeO

2. FeH

3. Fe 03

4. Fe30,4

Correct Answer :-

. Fe304

17) The role of decomposers in the ecosystem is /

iRt & & sroaes! 31 yfireT gt 3

1. They do notact on organic compounds. / d HIei® AT R HR T8 |

2. To convert inorganic materials into simple forms. / SHBTED UGl BT O T} § URafid BTl

3. To convert organic materials into inorganic forms. / FED Terdl DT sfwmeie ¥l § uRafdd S|

4. To convert inorganic materials into organic compounds. / 3(PTa-® Terdl B B Aifst & uRafdd B

Correct Answer :-

« To convert organic materials into inorganic forms. / P gerif B srraie wui & uRafdd &

18) The lightning arrester helps: /

afamgefm) e fra 3 weg HRav e:

1. To store the electric charges at the time of lightning /
afed & Tra fagga omawi &1 Yugd & H|

2. Dissipate the electric charges in to the atmosphere /

faegd eagii &1 argrea # S H1
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3. Avoid the production charges on the clouds /
STedl 7 31awl & IAET AT H |

4. To transfer the electric charges to the ground /
faqge frasi @t YfH # wHiARd $A 7

Correct Answer :-

» To transfer the electric charges to the ground /

g S &1 ity & W o 71

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs for 10 hours per day in a month of 30 days? /
30 T3+ & s g & wfe fae 10 6 F w5 are & o3 9o & v @ fraiare vl & fra figga Swil 3t wua i 82

1. 15kWh

2. 150 kWh

3. 15000 kWh

4. 1500 kWh

Correct Answer :-

+ 15kWh

20) Calculate the formula unit mass of MgS0,4.7H,0
[Atomic masses: Mg=24u,S=32u,0=16u,H=1u]/
MgS0,.7H,0 & A FHTS FHHT B MU BY:
[URHTY] G HT: Mg=24u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4.198u

Correct Answer :-

e 246 u

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The kinetic energy of the bullet is mainly converted in to /
g I TN GRS R U MU aest & 9 U el g9 Sl ¢ el S et Sl 98T w0 § 9E ulvafad g1 S g
1. Only Heat energy / S acl &SI ol

2. Kinetic energy for the wooden board /ﬂ%ﬁ% TSP ﬁm e Foit

3. Only Sound energy /W L Rl

4. Sound and heat energy both / @ IR ST Sl St

Correct Answef -

« Sound and heat energy both / @f¥ 3R T Fuif St

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car, which is parked on an open ground is: /
T Yy arel o #, oa qrgas e aow 370 SfRTE a1 8, 9 Ue SR & SieR B a1vHE, st ga Ao w7, e g
1. Greater than or equal to 37°C/370C & SRR AT H¥w

2. Equal t0370C / 37°C & SRTsR

3. Always greater than 379 /37%C § 31

4. Less than 370C /379C G &9
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Correct Answer :-

« Always greater than 379C / 37°C q 3

23) In a filament bulb the electrical energy is converted into: /

T framic geg (4 979) A gy ool ot su yRafda fvar wmar 2:
1. Chemical energy / IS Sl

2. Only heat energy / FHIA ST SHoll

3. Only light energy / B YPTR SHoll

4. Light and heat energy both / YD 3R ST Holt gl

Correct Answer :-

« Light and heat energy both / YD 3R ST SHolf gt

24) What is the valency of Carbon in Methane? /
W17 & w1 &) Taiterpar fait 82

1. Valency of C =2/ C ®I HaSIhdl =2

2. Valency of C =1/ C & Halslddl = 1

3. ValencyofC=4/C$gfm=4

4. Valency of C =3/ C &1 GaISlhdl = 3

Correct Answer :-

. ValencyofC=4/Cﬁﬂ.tnm=4

25) Which among the following is a mixed anhydride? /
frafafaq & 3 w1 v fif¥d TieseEs &2

1. CO,

2.N,05

3.50,

4.NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
fFrafaRad & @ r sMm Yeru & e iz Sur i 22

1. Chemical method / RIS fafdr

2. Fumigation / %ﬁ

3. Plant products like mineral oils / QS A0 S UIeY 3T

4. Cultural method / Wﬁl—tﬁ fafey

Correct Answer :-

« Cultural method / Wﬁ‘ﬁﬁ fafy

27) Which of the following is a biotic component? /
frafafEe & A wH-91 7F s v 32

1. Air/dlg
2. Water / SId1
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3. Soil / TAgt
4. Living things / Sifad T¥Q

Correct Answer :-

« Living things / Siifad T¥Q

28) Which of the following is a chemical effect of electric current: /
o & & 7 fagga ware &1 IR yuTa :
1. Producing a magnet using electric current /
fIggd UaTg ST ST B U aleh Iel Bl
2. Producing heat in an electric kettle /
T gaifaee el 8 S I B
3. Producing light using electric bulb /
fSrSTell & S BT I R YebT I BT
4. Production of Hy and O; by passing current through water /
T & 4RI Ua1ied @b Hy SR 0, T STeA HAT
Correct Answer :-

» Production of Hy and O; by passing current through water /

U ¥ 4RI Ua1Rd 9% Hy SR 0, &1 ITeA HAT

29) Name the property of the components used for separating salt and camphor. /

T R HYI B T A & g i {5 oM a1 gl & qurerd sarsa |

1. Using separating funnel /qwrﬁﬁq CIR LR
2. Magnetic separation /ﬂ'ﬁﬁﬁq PECERU

3. Sedimentation / 3{dTG

4. Sublimation / S eUTaT

Correct Answer :-

« Sublimation / S e T

30) Discoveries, inventions, laws, theories are all related to the
I HaRa 81

1. ease in daily living /mﬁﬁa:fﬁ ST

2. study of science /ﬁ?‘ﬂ:{ P HHIT

3. luxuries of life /W%W%ﬂ

4. satisfying human curiosity / qHaY o &1 W DAl

Correct Answer. -

. study of science / [aSI T 378

31) Not only formative but also summative assessment can be conducted through: /

9 $aq fFmive®, Ifed GRTdS e WY g & Areay A Snfera fovar st dedr g:

1. Homework / W

2. Question and answer sessions / Y4 3R IR I
3. Projects / ufRSTTSt
4. Self-evaluation of teachers / TRI&T BT W-HAhA

e, enfase, e, Rygia Tt
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Correct Answer :-

32) The drawback of Case Study method is that it does not lead to a: ] pa-S fafr &1 ?ﬁ'ﬂ'% fras USH T8l
FH B

1. Generalization / TATEHROT
2. Conclusion / fApy
3. Categorization / EFWUT

4. Assimilation / STHIATIHIU]

Correct Answer :-

33) Which of the following is not a feature of Continuous and Comprehensive Evaluation (CCE)? [Fafafead Can k|
Tad Ue SIS Yeaidp (HS) F1 faivar T8 82

1. It helps the teacher to learn about the existing concepts of students. / U5 BHEI B TﬁGET YRS & IR H oI | e &t
g PRI 5 |

2. It involves more frequent tests and examinations. / Eﬂﬁ [GRIILIES qﬁ&fUT S'ﬁT qﬁ&‘ﬂ'q gfvfera Tsﬁ?ﬁ %l
3. It involves repeated assessment of the same parameter. / svHH' Tdh %‘T HMHGUS BT IR-IR 3Hip e gfefera _Eﬁ?ﬂ %I
4. It is a school-based evaluation. / g Tdh faenea-3nenid H@Eb—"f %I

Correct Answer :-

« It involves more frequent tests and examinations. / m TR GRI&for 3R qﬁ&‘ﬂ'q gftfeaa E»Pl?ﬁ %l

34) Which of the following is not a scientific question? / fafafead @ ﬁ"l"\‘"@ aﬁfﬁﬁ? Uy qﬁ%’
1. What is the density of water? / =t &1 WWT%?

2. Why can we not see in the dark? / §H 31"3]3\‘ ff aa“‘r ﬂé’f%"@fﬂﬁ %?

3. What is meant by a secular republic? / ﬂﬁﬁ?ﬁf&f 0T T T 31ef %?

4. Why is the colour of sky blue? / S{TPIR] DI 31 e 4 %?
Correct Answer :-

- What is meant by a secular republic? / YfARYef IO BT T 37 %?

35) A formal event where multiple experts deliver their speeches is known as VAL SNTETR® e Sgl 3)_'.%
sy oo HUr A €, U H JH AR B

1. Laboratory / TRTRITETT
2. Symposium / g

3. Exposition / TR

4. Workshop / PRI

Correct Answer :-

36) What is the name of the satellite that was placed in the geostationary orbit specifically for increasing television-based education in

India? / 3 SUUE BT W T4 B, o uRa # eiifawmr-ameniya fRren &1 sgm ¥ R kv o 3 yxAfae sam & v mr ar
1. ERS2

Page- 47



2. EDUSAT
3. TechEdSat

4, ATS-6

Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /
Jerfafdy Hevor &1 Fa o gar 72
1. Crossing between different varieties of plants. /
el & fafe TR 3 o e (i)
2. Crossing between different genera. /
et vremTfal & ot Hepvar (spIRi)
3. Crossing between genetically dissimilar plants. /
SRS U Y fore drelt 3 o TR @RI
4. Crossing between two different species of the same genus. /

T B 91 & o e yetifardl & offe e (i)

Correct Answer :-

+ Crossing between different varieties of plants. /

qeft & T woR & o Tehrar (@Biv)

38) Assessment standards are required to provide effective science education for all. To assess teaching of science by science teachers in a

classroom, which of the following is NOT applicable? / IR & ﬁl’q YT ﬁsﬂq ﬁT&ﬂ TEH B P ﬁrq 3T AFDI BT
HTaLgHar gt 81 Fam ® fag Rrere! gr1 fagm & Rigrr &1 s w1 & R, Fafafea § § $9 av suges
TR 8?2

1. Parents’ view of the teacher. / fR1&ie & HIaI-fUar &1 %’@'ﬂ'ﬂ'UTI

2. Performance report of the students in the subject. /v o g & Q?Qﬁ Rard)

3. Students’ feedback on the teacher. / e/ TR BB &t ufafdar

4. Other school’s opinion of the science teacher. / 3<0 foeral ! fagm Rige & IR 7 |

Correct Answer :-

39) The factor that does not influence the formation of winds is: /

arg Frmfor &) gvifda 7 o3 aren eRe e 3

1. Presence of mountain ranges / da %{W P Juffa

2. Presence of seas and oceans / ?FEJ,?T IR TRNIFRI &1 IufRyfa

3. Uneven heating of the atmosphere in different regions of the earth / q%ﬁ & Taf¥r &3 T 1d1eR ol 1 A ara-
4. Rotation of the earth / qaaﬁwr‘th

Correct Answer :-

40) When a force of 1000N is applied on a particular surface the pressure acting on that surface is found to be 10 Pa, then the area of the
surface over which the force is applied is /

W ot fasiv wag W 1000 =g &1 I@ Y61 ST & @ IH Fag W A 9Tel 919 10 Pa UTIT ST 8, o) 9 SWGNT W BT &% d fa- o:

1. 0.001 m?
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2. 1000 m?
3. 100 m?
4. 10 m?

Correct Answer :-

.« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s respectively. Which of the two objects have the same

speed? /

TR IG3iT P, Q, R TF S & il HAT: 10 Wi/, 36 it/ v, 18femft/ver ok 301/ &1 7571 & avgail 3t wfa war @2

1.RandS/RTAS
2.PandR/PTIR
3.Pand Q/PTFQ
4.QandS/QUI S

Correct Answer :-

« PandQ/PTAQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20 oscillations?/

Sie Ugaw ot afa fbaet 9k 20 el # Arer Rufy ) uR Bt §2
1.10
2.20
3.40

4. 60

Correct Answer :-

. 40

43) Aballis dropped from a height of 100m. Find the time taken by it to reach the ground.

T i 100 W oY Farg A RS wirat 81 3 oY Y 9o uga § a1 9949 @i (g = 10m/s2)

L 2v5s

5v2s
2.

3.20s

4. 25s

Correct Answer :-

255

(g =10m/s?) /

44) Amount of energy transferred from one trophic level to the next is /
TF NS TR F SR8 Ne TR A ARG ST STaE gt 2|

1. 5%

2. 20%

3.15%

4. 10%

Correct Answer :-

¢ 10%

45)
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The acid present in Rancid butter /
P Tieht FeReT & SufR o T 2
1. Butyric acid / @ﬁ% ST

2. Acetic acid /Eﬁlﬁiﬁ 3T

3. Lactic acid / Tifdeds S

4. Formic acid / BITH® 3

Correct Answer :-

+ Butyric acid / S[CRe 37T

46) In an electric motor, the energy transformation is from: /

T figga Hiex 8§, Sl uivad= Sar gian &:

1. Magnetic energy into electrical energy / ﬂiﬁﬁﬂ mmﬁagamfr
2. Mechanical energy into electrical energy / Tif® G)‘_\rﬁmﬁﬂ'aﬁ ot &
3. Electrical energy into magnetic energy / fagga Sl @l By St §

4. Electrical energy into mechanical energy / fdaga Sail &1 aifiew FHoi o

Correct Answer :-

« Electrical energy into mechanical energy / fdgga Sai &1 g FHai o

47) CANCELLED

Thick layer of fat called blubber is found in: /

SAER TS a1 B W W 378 et o 3
1. Whale/%’ﬁ
2. Polar bear / §did HTT

3. Camel / Fe
4, Shark / SI&

Correct Answer :-

« Whale /%FT

48) Which one of the features mentioned below about decomposers is not applicable to decomposers? /
JTaeH HuHTSip M 1 & % A gt & |1 pea &
1. They transfer energy to the next trophic level in the food chain. /
I QT g 7 SATS Tifdehd] TR W ol RIFARd Hd g1
2. They are also called as saprophytes or reducers /
T8 Haoiid! a1 TEpRS i BT a1 |
3. Decomposers are also scavengers and they clean the earth. /
3rged TSI H BId & 3R 3 gedft ) I FRa B
4. They help in recycling nutrients. /
3 UIvep ARGl § Heg avd g
Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /

3 T SRl 7 SATS UIf¥ el TR W Soll RIFRT Hd g1

49) Which of the following is not a child-centred classroom? / fafafRad @ P-Gt - P i=d Fa Qﬁ %?
1. Teachers promote collaboration in learning / QTW Ty A QE@FT P deldl a?f % |
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2. The teacher is a facilitator instead of an instructor / ﬁT&‘W Th EI'QT&‘W & IO UHh JHAIDH %l
3. The teacher decides content, instruction method and assessments / Rrere W"?ﬁ, ﬁéQl fafdr 3iR 3t o1 fAvfg B %I

4. The students have a choice to pick assignments and decide assessment criteria / BEI o UM SIS ﬂ_"lef 3R Heih
AMES T A 31 iwe B

Correct Answer :-

« The teacher decides content, instruction method and assessments / e %rrntﬁ, e fafer 3R 3fTepa BT iy SR %I

50) Which of the following wastes is not bio degradable? /
foafifEe & & S=-an erufkre Sa g a1 S srawhia T8 &2
1. Vegetable peel / il & fvad

2. Milk sachets / g4 & dde

3. Cow dung / T T TMeR

4. News paper / 3[ddR

Correct Answer :-

« Milk sachets / §Y & O%c

51) Which of the following learning approach is considered to be a derivative of the Ausubelian approach? / ﬁ'ﬁfa@a ek ac k]

ftrma ef¥wivr, sigaferas R@ior &1 g | wiTaT 82
1. Experiential learning / S{JHATHD S

2. Collaborative learning approach / gearmme® i efpwiu
3. Analogy strategy / HIEXY o

4. Concept mapping / g AR

Correct Answer :-

« Concept mapping / Ry~ AMRE

52) which of the following can help the students to learn science through kinesthetic movements? / fafafead 3 DI B P

Tferiad foraralt & wreaw | fagm Wiw? & Age & 9@ 82
1. Written test / forfRara odte

2. Debate / dTG-fadlq

3. Drama / Fl[Ch

4. Quiz / THIRY

Correct Answer :-

« Drama /-IcH

53) If an object is kept in between the principal focus and the centre of curvature of a concave mirror, then the nature of the image will
be: /

T el aog &) 701 Biod AR aae gUor & adl & $5 § T ot 8, o ofy 9wy et
1. Real, enlarged and inverted / AR, 3ifiafifd wd It

2. virtual, diminished and erect / GIT'J-ITEﬁ, H@ﬁlﬁ@?ﬁ?ﬁ

3. Real, diminished and inverted / ARdd®, ApTed Ud Jec!

4. Real, diminished and erect/ aRafd®, YT Td Weft

Correct Answer :-

« Real, enlarged and inverted /W, aﬁaﬁa‘qa I
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54) People of different age groups need different amount of sleep. Who among the following needs more sleep? /
fafirr amy i % AT Y SraT-oraT A # <iig FY smazgwd gt 71 Fafifea ¥ 3 5 g 3 v aiftres sewa B &2
1. Child / ST

2. Infant / fQT%I

3. Man /&Y

4. Woman / II'%FH

Correct Answer :-

. Infant/m

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on that surface is: /
2.5 m2 P} o W W WHI: 100 N ST Se SHITaT ST 8| g TR a7 rell 3aTd 2:

1.400 N/m2

2,40 N/m?

3.4 N/m?

4. 250 N/m?2

Correct Answer :-

« 40 N/m?

56) A teacher is trying to nurture an aesthetic sense in his students, he should encourage them to: / TS e 30+ BT

 Higdaly HT UTYUT H=A BT B X 6T 5, S S8 MATTod ST A11E F:
1. Investigate ideas /ﬁ?ﬂ'\ﬁﬁ NIEECE

2. Development of models of inquiry / 579 & UfTHA (Hied) BI [AHRId H

3. Observe phenomenon keenly / T @1 STHAT & oW |

4. Frame questions / 3 U4 AOR &3 |

Correct Answer :-

1. Selecting topics from upcoming tests. / 3FTH! TRI&UT ¥ fawdl &1 98+ BT

2. Summarizing ideas with the help of learners at the end of a discussion. / I & 3id ﬁﬁT&ﬂm EDIF_E;TCI?IT T R &1
IR HATI

3. Acknowledging learners for responses. / gffdsar & ferg Rrenmfial &) wWierR B

4. Encouraging questions as well as responses to each other’s questions. / ATl B UieHIed BT Tg 1Y &t W-@%% Tl &1
SaTd o |

Correct Answer :-

« Selecting topics from upcoming tests. / ST TRI&OT & Tl &1 9a+ BTl

58) Which of the following statements is false with respect to scientific theories? / %amﬁ@?ﬁ & oy ﬁmﬁ
Y P T HYA T 82

1. A theory must be tested with rigour. / T Rrgid &1 gedl & Ty gtequr foan ST Al

2. Theories must follow observations. / ﬁ?&"l?ﬂ I U&UN T UTE BT EIT%EI

3. Theories may be expressed as an equation. / gl @ TH TS0 & U H o [l o Tl % I

4. Predictions of theories must be reproducible. /ﬁl@lf_vﬁ A uﬁmﬁﬁrtﬁ A=Y Wﬁqﬁﬂ%ﬂl
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Correct Answer :-

. Theories must follow observations. / FIGIdl &) U&UN &7 UTE BT AMBTI

59) A scientific theory cannot be expected to: / Tdh Wﬁ@ﬁ"@ 3U&T 8] B I Al fob -
1. Predict all outcomes / 4T TRUTHT anﬁnﬁ a|
2. Resist falsification / SrIIHRU BT TaR1Y |

3. Receive questioning / Ui B U B
4. Change with time / T & 1Y §&al |

Correct Answer :-

. Predict all outcomes / F UROITHT &7 Wﬁ T

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile. What substance is generally added to the soil to
neutralize this effect? /

Py § TTafe SdRel & i vai & frdh srefia gt Ut 4 3gueTss 81 Wl 81 39 UYTT &1 J3rR oA & g I fea
verdf =Y firgh & firemar wian 82

1. NaOH

2. Mg(OH),
3. NayCO4
4. CaO

Correct Answer :-

« CaO
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